Svenska Bridgeférbundet
Silver 1 IAF 2019-07-26

IMP dver féltet, 51 bord, 101 par. Antal brickor: 40.

Plac

Par

645
524
537
531
551
432
525
633
553
654
622
429
459
435
627
431
659
628
529
646
457
526
632
421
653
521
446
637
450
458
657
544
630
550
453
455
533
647
546
635
636
451
528
556
552
559
449
448
560
430
554
660
621
532
634
424
623
555
460
557
426
433
454
625
445
624
434
547
428
658
422
456
545
631
436
648
549
425
652
649
452
444
527
548
447

Poang

4669.0
3186.3
2894.7
2853.7
2423.2
2322.0
2289.5
2241.0
2140.0
2086.0
2055.0
2036.0
2023.0
1879.0
1749.0
1741.0
1723.0
1602.0
1482.1
1307.0
1293.0
1283.2
1279.0
1233.0
1216.0
1153.0
1150.0
1022.0
1002.0
960.0
939.0
856.0
767.0
676.0
665.0
621.0
553.7
487.0
474.0
461.0
386.0
380.0
287.4
267.0
137.0
116.8
101.0
86.0
40.0
15.0
13.0
-10.0
-45.0
-127.0
-133.0
-146.0
-167.0
-172.6
-197.0
-300.0
-349.0
-371.0
-479.0
-504.0
-562.0
-634.0
-665.0
-675.8
-756.0
-824.0
-831.0
-879.0
-888.4
-987.0
-1007.0
-1049.0
-1129.5
-1139.0
-1143.0
-1156.0
-1171.0
-1232.0
-1282.1
-1307.0
-1428.0

Namn

Tim van de Paverd - Oscar Nijssen
Par Ol-Mars - Anders Sjostedt
Bo-Henry Ek - Peter Nordén
Alexander Sandin - Daniel Gullberg
Johan Noberius - Michael Claesson
Anders Kristensen - Bengt-Gdran Olofsson
Markus Bertheau - UIf Lundgren

Erik Hansson - Castor Mann

Stefan Ekman - Kaj Adolfsson

Johan Safsten - Anders Bjorkman
Bjorn Helgeby - Simon Helgeby
Henrik Sallberg - Tommy Bergdahl
Mikael Westerlund - Bo Sundell
Jimmy Herrdin - Kent Karlsson

Einar Jorgenrud - Per Ongstad

Eva Wetterhall - Karl Persson

Dan Bylund - Helena Stromberg
Pontus Karlsson - Joakim Olsson
Hans Velin - Mikael Blomgvist
Kathrine Bertheau - Mattias Weiler
Hans Kvick - Joakim Nordlindh
Johnny Hofseth - Henrik Gosvig
Goran Anér - Michael Runfors

Krister Ahlesved - Niklas Warne

Jan Gutenwik - Perry Sjoberg

Bjorn Wenander - Terje Lie

Bengt Lundberg - Kjell Glans

Ola Brandborn - Lennart Eriksson

UIf Backman - Peter Béackstrand

Mats Sjoberg - Christer Eriksson

Lars Ericson - Joakim Ericson

Roger Ahlbom - Hakan Svensson

Kaj Jorstad - Bjorn Valen .
Lennart Persson - Lars-Géran Ostlund
Paul Delaney - Martin Brady

Carl Engholm - Marcus Hjelte

Daniel Salomonsson - Tobias Térnqvist
Vesa Leskela - Kirsi Virtanen

Bo Roos - Henrik Noberius

Borje Dahlberg - Robin Bjorkstrand
Magnus Wegestal - Jonas Tjarnemo
Adam Stokka - Peter Flodqvist

Daniel Eriksson - Rolf Scherdin
Thomas Ekendahl - Barbara Ekendahl
Leif Lundberg - Emma Karlsson
Birgitta Radberg - Stefan Westlund
Simon Hult - Yvonne Wiseman

Robert Ferrari - Mike Ash

Suzanne Lemborn - Kent Rorqvist
Bengt Nilsson - Leif Andersson

Peter Backlund - Jan Johnsson
Hans-Olof Hallén - Christer Sandberg
Robert Back - Lena Petersen

Helge Bjaaland - Per Erik Opsahl
Anders Johansen - Bengt-Ake Leskinen
Robert Frank - Johan Goransson

Ylva Karlsson-Uisk - Ahto Uisk

Jons Johansson - Urban Bjérklund
Seymour Eriksson - Ake Lundkvist
Anders Pettersson - Anders Lindgren
Karola Hogberg - Anki Johansson
Kent Maltein - Ted Olows

Nicklas Widhja - Stefan Lilja

Maria Gronkvist - Catharina Ahlesved
Mattias Lindgren - Morgan Karlsson
Carl-Henrik Nauclér - Erik Myklebust
Jan Selberg - Olle Wademark
Per-Ake Jansson - Lars Lundgren
Yvonne Flodqvist - Fredrik Hellkvist
Dag A. Lie - Olav Hjerkinn

Bente Skyemoen - Oddrun Godejord
Vesa Leinonen - Martti Meronen
Kenneth Wallin - Pasi Kallio

Simon Rasmussen - Rolf Normann Hansen
Antonis Kokkolios - Anastasios Drassas
Kjell Staffas - Jan Matsson

Magnus Hultman - Joachim Borgel
Simon Ekenberg - Tuva Nilsmark
Ingegerd Lundgren - Ulla Ridderstad
Hakan Lindbéck - Bengt Nilsson

Nils Monsted - Rikke Monsted

Vit Volhejn - Peter Volhejn

Petra Svantesson - Lennart Johansson
Patric Holmberg - Thomas Karlsson
Dejana Sverker - Ann-Christin Ahlstrém

MID

+1196
5342
2381
41730
655
+620
57666
53648
18318
35452
+1192
29785
9690
81411
+1116
2815
8223
3645
1179
81089
2878
+930
2820
13995
6302
4856
7466
13092
82648
1198
12536
11528
+1194
2978
+531
9773
15175
+955
13691
4744
91149
30515
24659
17307
20271
17276
36107
+1199
14984
10267
244
9896
11174
+429
82466
25150
2802
6143
57716
26053
17222
15967
25146
1076
87458
87456
11074
2714
14805
+905
+1198
+982
1597
59617
+1200
34308
14044
41685
6961
2658
+1118
+108
15294
17031
50940

+1197
13489
7833
37167
656
9553
12024
58464
17773
56099
+1193
2181
3413
4155
+435
2872
12565
80478
6340
11482
35307
+787
10344
15344
5775
5024
15295
9020

Klubb

BK S:t Erik - BK Bjorken
Orebridgen

Storsjobygdens BK - BK Bjorken
Hovmantorps BK

Norge - BK Bjorken

Filbyter Bridge - Tyresté BK
Borlange BK

BK S:t Erik

Uppsalabridgen - BK S:t Erik

Sallskapet, Ronneby - Norrorts Bridge
ABB BK - Storsjobygdens BK
ABK Singelton, Askersund
Norge

BK S:t Erik

Sundsvallsbridgen

Amals BS - Bohus Nations BS
Filbyter Bridge

BK S:t Erik

Uppsalabridgen - BK ALERT
Norge .
Uppsalabridgen - Orebridgen
Uppsalabridgen

Malmé BK

Onsdagsklubben - BK Falkenberg
Tjorns BK

BK S:t Erik

Laholms BK - BK Opalen
Filbyter Bridge - Uppsalabridgen
Gavle BK - Skutskars BK
Bolinas BK

Gévle BK

Ireland

Uppsalabridgen

Uddevalla BF - BK Lavec
Finland

Ulricehamns BK - Skara BS
BK Lyx

Malmd BK - LUCK

BK S:t Erik

Gévle BK

Arboga BK

Lulea BK

Gévle BK

BK S:t Erik - Filbyter Bridge
Scotland

Karlstads BK - Arvika BS
Hoo6rs BK - Genarps BK

BK S:t Erik - Gavle BK
Malmo BK - Soélvesborgs BK
BK Lyx - Frélunda BS

Norge

Smedstadens BK

BK Opalen

Uppsalabridgen

Sydjamten - BK S:t Erik

BK S:t Erik - Orebridgen

BK S:t Erik .
Lindesbergs BS - Orebridgen
Sandvikens BK - Storsjobygdens BK
BK Opalen

Orebridgen

Hedemora BS - Uppsalabridgen
BK S:t Erik

Norrorts Bridge
Smedstadens BK - Arboga BK
BK S:t Erik

Norge

Norge

Finland

Orebridgen

Uddevalla BF

Malungs BK

Lindesbergs BS

BK S:t Erik

Séavsjo BK - BK Opalen

ABB BK

Danmark

Czech Republic

Ljungskile BK

BK S:t Erik - Storsjobygdens BK
Orebridgen

Svenska Bridgeforbundet, Silver 1 IAF 2019-07-26, sida 1 av 17




86 423 -1505.0 Stefan Olausson - Jesper Rundin 49941 80778 BK S:tErik - Borlange BK
87 629 -1707.0 Micael Svensson - Conny Svensson 2383 7638  Orebridgen - ABK Singelton, Askersund
88 427 -1833.0 Villy Havasi - Bobbo Jovic 89205 48267 BK Albrekts
89 644 -1934.0 Goran Hammarstrom - Mikael Arnberg 11426 24686 Filbyter Bridge
90 534 -2076.0 Martin Gardrup - Johan Andersson 36202 40197 Malmo BK
91 530 -2105.0 Pierre Carbonnier - Hakan Tjarnemo 5538 5534  Lunds BK
92 651 -2227.0 Rolf Forsberg - Stefan Andersson 13471 13753 ABB BK .
93 650 -2368.0 Jakob Johansson - Tobias Bern 64650 66187 Strangnas BK Gripen - Orebridgen
94 626 -2670.0 Christina Ahl - Malin Helin 3140 30933 Gavle BK
95 535 -2743.2 Kenneth Karlsson - Jorgen Claesson 625 28214 Malungs BK - Hedemora BS
96 536 -2945.0 Moa Petersen - Ingrid Petersen 85317 12906 Frolunda BS
97 656 -2952.0 Henrik Malmsten - Anders Tjernvik 78978 80178 Filbyter Bridge
98 437 -2957.0 Goran Lidgren - Bengt Alrud 10066 4373  Skovde BA - Bords BA
99 522 -2962.1 Lars Marjoniemi - Jérgen Lundberg 14508 7657 Hallstahammars BK
100 655 -3479.0 Ann Fagerberg - Ingemar Forsling 88969 6399  Skutskars BK - Gavle BK
101 523 -4152.6 Lisbeth Engdahl - Annika Sundelin 10154 29538 RD Trivselbridge - Solstabridgen
1 53 Bésta kontrakt 2 & Kn7 Basta kontrakt
Nord v Kn1032 34 O =-140 Ost v 65 6NT O =-990
Ingen + 96 NS ¢ 987
#EDKn92 % ¢ v & NT #Kn109862 & ¢ v & NT
4 D1064 & KKn987 N8 6 645 a2 4 ED9543 N4 1131
v K98 vD75 S 85645 vE984 vK103 S41131
+ D84 + EK3 056 697 ¢ K6542 ¢ ED3 O 9 12121012
»854 »K3 V56697 #KD4  &E vV 9 12111012
aE2 4 K1086
vE64 v DKn72
¢ Kn10752 ¢ Kn10
*1076 #753
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
549 532 34 N-= ¢A 110 296.0 -296.0 ( 448 433 7¢ V-2 .7 100 499.0 -499.0
654 629 2# N +1 ¢ A 110 296.0 -296.0 | 454 427 6NV -2 *] 100 499.0 -499.0
447 434 44 O-1 *6 50 238.0 -238.0| 559 522 64 O-2 vQ 100 499.0 -499.0
448 433 44 O-1 +J 50 238.0 -238.0| 560 521 64 O-2 vQ 100 499.0 -499.0
551 530 44 O-1 *6 50 238.0 -238.0| 632 651 64 O-2 +J 100 499.0 -499.0
559 522 44 O-1 *6 50 238.0 -238.0| 652 631 64 O-2 v2 100 499.0 -499.0
621 623 44 O-1 *6 50 238.0 -238.0( 425 456 7¢ V-1 .7 50 467.0 -467.0
645 644 44 O-1 *6 50 238.0 -238.0( 453 428 6NV-1 v6 50 467.0 -467.0
445 436 34 N-2 *A -100 52.0 -52.0| 524 557 6¢ V-1 v6 50 467.0 -467.0
455 426 3% S-2 *4 -100 52.0 -52.0| 529 552 6¢ V-1 LN 50 467.0 -467.0
449 432 INO+1 2 -120 31.0 -31.0| 544 537 6¢ V-1 +9 50 467.0 -467.0
524 557 INOQ+1 2 -120 31.0 -31.0| 554 527 6#V-1 *] 50 467.0 -467.0
560 521 INO+1 +3 -120 31.0 -31.0| 645 644 6¢ V-1 LN 50 467.0 -467.0
423 458 34 O= 2 -140 -7.0 7.0| 429 452 5¢ V+1 v6 -420 150.0 -150.0
424 457 34 O= *6 -140 -7.0 7.0 449 432 5¢ V+1 +8 -420 150.0 -150.0
435 446 24 O+1 2 -140 -7.0 7.0 451 430 44 O= +J -420 150.0 -150.0
453 428 34 O= *6 -140 -7.0 7.0| 654 629 44 O= vQ -420 150.0 -150.0
460 421 34 O= *J -140 -7.0 7.0| 646 637 4v O+1 »3 -450 111.0 -111.0
553 528 24 O+1 &7 -140 -7.0 7.0 625 658 3NV +2 LN -460 111.0 -111.0
556 525 34 O= +J -140 -7.0 7.0 455 426 3NV +3 *9 -490 98.0 -98.0
632 651 24 O+1 *6 -140 -7.0 7.0| 547 534 3NV +3 *] -490 98.0 -98.0
646 637 34 O= +J -140 -7.0 7.0 553 528 3NV +3 +9 -490 98.0 -98.0
648 635 34 O= 2 -140 -7.0 7.0 621 623 3NV +3 *] -490 98.0 -98.0
650 633 34 O= *6 -140 -7.0 7.0 630 653 3NV +3 *] -490 98.0 -98.0
656 627 34 O= +J -140 -7.0 7.0| 649 634 3NV +3 LN -490 98.0 -98.0
657 626 24 O+1 *6 -140 -7.0 7.0| 444 437 3NV + *] -520 57.0 -57.0
454 427 INQ +2 2 -150 -9.0 9.0 423 458 6¢ V= +9 -920 -289.0 289.0
545 536 1N QO +2 +5 -150 -9.0 9.0| 424 457 64 V= LN -920 -289.0 289.0
547 534 INOQ +2 2 -150 -9.0 9.0 431 450 6¢ V= &T -920 -289.0 289.0
625 658 1IN O +2 2 -150 -9.0 9.0 435 446 6¢ V= *] -920 -289.0 289.0
630 653 INO +2 +6 -150 -9.0 9.0 531 550 6¢ V= *J -920 -289.0 289.0
652 631 INO+2 +5 -150 -9.0 9.0| 535 546 64 O= *] -920 -289.0 289.0
425 456 24 V +2 +9 -170 -55.0 55.0| 545 536 6¢ V= *] -920 -289.0 289.0
431 450 24 O +2 *T -170 -55.0 55.0| 549 532 6¢ V= v6 -920 -289.0 289.0
444 437 24 O +2 +J -170 -55.0 55.0| 551 530 6¢ V= *] -920 -289.0 289.0
451 430 34 O+1 *6 -170 -55.0 55.0| 555 526 6¢ V= *] -920 -289.0 289.0
624 659 1a V+3 v3 -170 -55.0 55.0| 556 525 6¢ V= +9 -920 -289.0 289.0
655 628 24 O +2 vA -170 -55.0 55.0| 624 659 64 O= 3 -920 -289.0 289.0
422 459 2N Q +2 2 -180 -55.0 55.0| 636 647 6¢ V= *] -920 -289.0 289.0
429 452 INO +3 2 -180 -55.0 55.0| 650 633 6¢ V= +9 -920 -289.0 289.0
531 550 INOQ+3 2 -180 -55.0 55.0| 656 627 6¢ V= *] -920 -289.0 289.0
548 533 INOQ+3 +3 -180 -55.0 55.0| 657 626 6¢ V= *] -920 -289.0 289.0
555 526 1IN O +3 2 -180 -55.0 55.0| 460 421 6¢ V+1 LN -940 -308.0 308.0
636 647 INO +3 +J -180 -55.0 55.0| 648 635 6¢ O +1 vQ -940 -308.0 308.0
649 634 INO+3 2 -180 -55.0 55.0| 445 436 6NO= *] -990 -347.0 347.0
660 622 INO +3 2 -180 -55.0 55.0| 447 434 6NV = LN -990 -347.0 347.0
535 546 3NO= +J -400 -313.0 313.0( 655 628 6NV = *] -990 -347.0 347.0
544 537 3NO= 2 -400 -313.0 313.0( 660 622 6NO= 3 -990 -347.0 347.0
529 552 4e V= +9 -420 -338.0 338.0| 422 459 6N O +1 vQ -1020 -379.0 379.0
554 527 44 O= *6 -420 -338.0 338.0| 548 533 2¢vDS-6 v4 -1700 -723.0 723.0
523 - -103.8 523 - -103.8
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3 4 D975 Basta kontrakt 4 4« KKn8753 Basta kontrakt
Syd v 86 4ANT O =-630 Vast vD 4v V =-620
oV ¢ 864 Alla ¢+54
#Kn932 & ¢ v & NT #9652 & ¢ v & NT
4 K1064 #E83 N3 2433 442 « ED6 N6 4374
v4 v EDKn5 S32433 vEKn98 v107632 S6 4374
¢ EKD10 ¢ Kn93 O 10109 9 10 ¢+ Kn9763 ¢ EK O7 9 106 9
K765 #1084 vV 10109 9 9 #Kn8 *K73 vV 6 8 106 9
& Kn2 109
v K109732 v K54
4752 + D1082
&ED #ED104
Par Kontr ut Res Poang Par Kontr ut Res Poang
524 559 3NO-3 v9 300 655.0 -655.0( 430 453 3NO-2 oT 200 373.0 -373.0
645 636 5# V-3 v8 300 655.0 -655.0 549 534 24 N= + K 110 269.0 -269.0
421 427 3NO-1 vT 100 550.0 -550.0 635 646 24 N= *A 110 269.0 -269.0
450 433 3NO-1 v9 100 550.0 -550.0( 644 637 24 N= LN 110 269.0 -269.0
452 431 44 V-1 v8 100 550.0 -550.0( 653 628 24 S= *] 110 269.0 -269.0
426 456 2vDS-3 + K -500 118.0 -118.0( 660 621 24 N= + K 110 269.0 -269.0
635 646 2vDS-3 ¢ A -500 118.0 -118.0( 426 456 3NO-1 oT 100 268.0 -268.0
647 634 2vyDN-3 +3 -500 118.0 -118.0| 432 451 4v O-1 aT 100 268.0 -268.0
424 458 3N O = ] -600 -9.0 9.0 445 444 4v O-1 aT 100 268.0 -268.0
436 447 3NV = *2 -600 -9.0 9.0| 449 434 4v0O-1 oT 100 268.0 -268.0
446 437 3NO= v2 -600 -9.0 9.0 450 433 3NO-1 aT 100 268.0 -268.0
448 435 3NO= vT -600 -9.0 9.0| 454 429 3vO-1 aT 100 268.0 -268.0
449 434 3NO= ] -600 -9.0 9.0| 524 559 4v V-1 ¢+5 100 268.0 -268.0
454 429 3NO= v9 -600 -9.0 9.0 545 544 4v O-1 aT 100 268.0 -268.0
455 428 3NV = v9 -600 -9.0 9.0| 550 533 4v0-1 aT 100 268.0 -268.0
460 422 3NO= ] -600 -9.0 9.0| 557 526 3NO-1 oT 100 268.0 -268.0
521 523 3NO= v3 -600 -9.0 9.0 651 630 3NO-1 aT 100 268.0 -268.0
530 553 3NO= s -600 -9.0 9.0| 655 626 4v O-1 aT 100 268.0 -268.0
545 544 3NO= ¢7 -600 -9.0 9.0| 560 522 34 N-1 ¢+ K -100 74.0 -74.0
549 534 3NO= v9 -600 -9.0 9.0 647 634 34 N-1 + K -100 74.0 -74.0
550 533 3NO= v3 -600 -9.0 9.0 421 427 INO+1 2 -120 40.0 -40.0
555 528 3NO= v3 -600 -9.0 9.0| 423 459 INO+1 oT -120 40.0 -40.0
556 527 3NO= ] -600 -9.0 9.0 460 422 INO+1 aT -120 40.0 -40.0
557 526 3NO-= ] -600 -9.0 9.0| 521 523 2NO= aT -120 40.0 -40.0
560 522 3NO= 2 -600 -9.0 9.0| 532 551 INO+1 +8 -120 40.0 -40.0
623 658 3NO= vT -600 -9.0 9.0 554 529 INO+1 aT -120 40.0 -40.0
624 657 3NO= v3 -600 -9.0 9.0| 631 650 INO+1 2 -120 40.0 -40.0
629 652 3NO= v3 -600 -9.0 9.0| 645 636 2NO= oT -120 40.0 -40.0
631 650 3NO= v2 -600 -9.0 9.0| 654 627 2NO= aT -120 40.0 -40.0
644 637 3NO= v3 -600 -9.0 9.0| 455 428 3¢ V+1 vQ -130 26.0 -26.0
648 633 3NO= v3 -600 -9.0 9.0| 436 447 3vO= aT -140 14.0 -14.0
651 630 3NV= v8 -600 -9.0 9.0 446 437 3vO= aT -140 14.0 -14.0
656 625 3NO= ] -600 -9.0 9.0| 556 527 3vO= aT -140 14.0 -14.0
659 622 3NO= ] -600 -9.0 9.0| 649 632 3v V= »5 -140 14.0 -14.0
430 453 3NO+1 4] -630 -50.0 50.0| 623 658 2N O +1 aT -150 11.0 -11.0
432 451 3NO+1 vT -630 -50.0 50.0| 656 625 2N O +1 aT -150 11.0 -11.0
445 444 3NV +1 v9 -630 -50.0 50.0| 659 622 2N O +1 oT -150 11.0 -11.0
532 551 3NO+1 v7 -630 -50.0 50.0| 452 431 3NO= aT -600 -386.0 386.0
536 547 3NO+1 v7 -630 -50.0 50.0| 424 458 4y O = aT -620 -407.0 407.0
546 537 3N O +1 ¢7 -630 -50.0 50.0| 425 457 4v O= oT -620 -407.0 407.0
653 628 3N O +1 v9 -630 -50.0 50.0| 448 435 4v O= aT -620 -407.0 407.0
654 627 3NO+1 v9 -630 -50.0 50.0| 530 553 4v O= aT -620 -407.0 407.0
655 626 3NO+1 ] -630 -50.0 50.0| 536 547 4v O= oT -620 -407.0 407.0
660 621 3NO+1 ] -630 -50.0 50.0| 546 537 4v O= aT -620 -407.0 407.0
423 459 2vyDN-4 &4 -800 -240.0 240.0| 552 531 4v O= aT -620 -407.0 407.0
425 457 2vyDN-4 &4 -800 -240.0 240.0| 555 528 4y O= 43 -620 -407.0 407.0
649 632 2¢vDN -4 +3 -800 -240.0 2400 624 657 4v O= aT -620 -407.0 407.0
554 529 4vDS-5 *A -1100 -501.0 501.0 629 652 4y O= aT -620 -407.0 407.0
548 535 4vyDS-6 ¢ A -1400 -631.0 631.0| 548 535 4vDV= a5 -790 -519.0 519.0
552 531 5vDS-7 *A -1700 -728.0 728.0| 648 633 3vDO+1 aT -930 -582.0 582.0
525 - 57.2 525 - 57.2
5 410864 Bésta kontrakt 6 « DKn9 Bésta kontrakt
Nord vD93 6NT O =-990 Ost v10 4v O =-620
NS ¢+ D1053 ov ¢ K975
K9 & ¢ v & NT #K10983 & ¢ v & NT
4EDKn 49 N13161 » 86 « E10752 N56 334
vE1042 vKKn865 S13161 v EKKn7652 v4 S56 344
¢+ E8 + K642 O 1110127 12 ¢ E + D1062 O7 6 108 9
#E754 #D108 V 1110127 12 #EKn2 #D75 vV 8 6 109 9
& K7532 « K43
v7 v D983
¢ Kn97 ¢ Kn843
#Kn632 *64
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
447 444 6v O-1 3 50 498.0 -498.0| 449 436 54 O-3 *6 300 524.0 -524.0
455 430 6v V-1 +5 50 498.0 -498.0( 551 534 3NO-3 *4 300 524.0 -524.0
460 423 6v O-1 »3 50 498.0 -498.0( 550 535 3NO-2 +4 200 452.0 -452.0
525 521 6NV-1 a4 50 498.0 -498.0 | 627 621 3NO-2 +4 200 452.0 -452.0
549 536 6v O-1 a2 50 498.0 -498.0 ( 424 459 4v O-1 .7 100 371.0 -371.0
644 649 6v O-1 ¢7 50 498.0 -498.0( 425 458 4v V-1 «Q 100 371.0 -371.0
422 428 4y O= #3 -420 50.0 -50.0| 426 457 4v V-1 4Q 100 371.0 -371.0
424 459 4v O +1 *7 -450 5.0 5.0 431 454 4v V-1 »8 100 371.0 -371.0
425 458 4v O +1 ¢7 -450 5.0 -5.0( 451 434 4v V-1 &T 100 371.0 -371.0
426 457 4y O+1 .7 -450 5.0 -5.0( 453 432 4v V-1 vQ 100 371.0 -371.0
427 456 4v O +1 *7 -450 5.0 -5.0( 455 430 4v V-1 «Q 100 371.0 -371.0
431 454 4v O+1 8 -450 5.0 5.0 531 554 4v V-1 +Q 100 371.0 -371.0
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437 448 4v V +1 a4 -450 5.0 -5.0( 546 545 4v V-1 «Q 100 371.0 -371.0
446 445 4y O +1 43 -450 5.0 -5.0( 549 536 4v V-1 &T 100 371.0 -371.0
449 436 4v O+1 a2 -450 5.0 -5.0( 553 532 4v V-1 .7 100 371.0 -371.0
450 435 4v O+1 a2 -450 5.0 -5.0( 555 530 4v V-1 *3 100 371.0 -371.0
451 434 4y O+1 &4 -450 5.0 5.0 623 625 4v V-1 Lye) 100 371.0 -371.0
533 552 5v O= &3 -450 5.0 -5.0| 647 646 4v V-1 .7 100 371.0 -371.0
547 544 4v O +1 *7 -450 5.0 5.0 421 429 4v O= *6 -620 -219.0 219.0
551 534 4y O+1 a5 -450 5.0 5.0 422 428 4v V= 3 -620 -219.0 219.0
553 532 4v O +1 a2 -450 5.0 -5.0| 427 456 4y V= 40Q -620 -219.0 219.0
555 530 4v O+1 »3 -450 5.0 5.0 433 452 4v V= «Q -620 -219.0 219.0
557 528 4v V +1 2 -450 5.0 5.0 437 448 4v V= 4Q -620 -219.0 219.0
626 622 5v O= a2 -450 5.0 5.0 447 444 4v V= +5 -620 -219.0 219.0
632 655 4v O +1 »6 -450 5.0 -5.0( 450 435 4v V= «Q -620 -219.0 219.0
647 646 4y O +1 a2 -450 5.0 5.0 460 423 4v O= *6 -620 -219.0 219.0
648 645 4v O +1 a2 -450 5.0 5.0 522 524 4v V= &T -620 -219.0 219.0
651 636 4v O +1 a2 -450 5.0 5.0 525 521 4v V= «Q -620 -219.0 219.0
656 631 4y O +1 &3 -450 5.0 -5.0( 526 559 4v V= 4 Q -620 -219.0 219.0
659 628 4v O +1 43 -450 5.0 -5.0( 533 552 4v V= *7 -620 -219.0 219.0
433 452 4v V +2 46 -480 -34.0 34.0| 537 548 4y V= &T -620 -219.0 219.0
453 432 4v V +2 46 -480 -34.0 34.0| 547 544 4y V= *9 -620 -219.0 219.0
526 559 4v O +2 v7 -480 -34.0 34.0| 556 529 4v V= vT -620 -219.0 219.0
531 554 4v V+2 46 -480 -34.0 34.0| 557 528 4y V= «Q -620 -219.0 219.0
546 545 4v O +2 a2 -480 -34.0 340 | 560 523 4v V= &T -620 -219.0 219.0
550 535 4v V +2 46 -480 -34.0 340( 626 622 44 O= *6 -620 -219.0 219.0
556 529 4v V +2 8 -480 -34.0 34.0| 632 655 4y V= *9 -620 -219.0 219.0
560 523 4v O +2 v7 -480 -34.0 34.0| 634 653 4v V= vT -620 -219.0 219.0
623 625 4v V+2 48 -480 -34.0 34.0| 644 649 4v V= vT -620 -219.0 219.0
627 621 4v V+2 3 -480 -34.0 34.0| 648 645 4y V= vT -620 -219.0 219.0
650 637 4v O +2 a2 -480 -34.0 34.0| 651 636 4v V= +Q -620 -219.0 219.0
652 635 4v V+2 a4 -480 -34.0 34.0| 652 635 4y V= 40 -620 -219.0 219.0
660 624 4v O +2 3 -480 -34.0 34.0| 654 633 4y V= vT -620 -219.0 219.0
421 429 4v V +3 46 -510 -78.0 78.0| 657 630 4v V= +Q -620 -219.0 219.0
634 653 4v V+3 46 -510 -78.0 78.0| 658 629 4y O= 40 -620 -219.0 219.0
522 524 6y V= a4 -980 -511.0 511.0| 659 628 4y V= «Q -620 -219.0 219.0
537 548 6v O= 3 -980 -511.0 511.0| 660 624 3NV +1 *9 -630 -219.0 219.0
654 633 6y V= 46 -980 -511.0 511.0| 446 445 4v V +1 vT -650 -265.0 265.0
657 630 6v V= 46 -980 -511.0 511.0| 650 637 4v V+1 *7 -650 -265.0 265.0
658 629 6y O= 46 -980 -511.0 511. 656 631 4v V+1 vT -650 -265.0 265.0
- 527 -32.1 - 527 -32.1
7 «E7 Bésta kontrakt 8 «D Bésta kontrakt
Syd v DKn7652 4% S D -2 -500 Vast vE 3¢ N =110
Alla +8 Ingen ¢ ED9843
#K1072 & ¢ v & NT #K8652 & ¢ v &N
4D10432 46 N8 376 4 4 Knl105 K87 N9 97 86
v 98 vE1043 S83774 v9652  vKKn83 S9 9786
¢+ KD4 + E109763 O5 105 6 9 +Kn76 ¢ K52 033645
&#EDKn 495 vV 5 106 6 9 #ED4 #1097 V 33646
« KKn985 « E96432
vK vD1074
¢ Kn52 +10
#8643 #Kn3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
451 436 2vyDN +1 46 870 651.0 -651.0 560 524 3N S +1 v5 430 414.0 -414.0
426 458 2vyDN= 46 670 564.0 -564.0( 534 553 2NN +2 &T 180 162.0 -162.0
554 533 2¢vyDN= +6 670 564.0 -564.0 [ 425 459 3& N +2 &7 150 112.0 -112.0
559 528 2vyDN= 46 670 564.0 -564.0( 527 521 3# N +2 &T 150 112.0 -112.0
625 621 2vDN= 46 670 564.0 -564.0( 551 536 3# N +2 »7 150 112.0 -112.0
658 627 2vDN= 46 670 564.0 -564.0 | 426 458 24 S+1 v5 140 103.0 -103.0
552 535 24 V-3 +8 300 352.0 -352.0( 452 435 24 S+1 v5 140 103.0 -103.0
432 455 2y N= 46 110 182.0 -182.0( 550 537 24 S+1 v5 140 103.0 -103.0
448 445 2y N= 46 110 182.0 -182.0 | 622 624 24 S+1 v5 140 103.0 -103.0
526 522 2v N= 46 110 182.0 -182.0 631 654 24 S+1 v5 140 103.0 -103.0
551 536 2v N= 46 110 182.0 -182.0( 646 645 24 S+1 vQ 140 103.0 -103.0
622 624 2v N= 46 110 182.0 -182.0( 651 634 24 S+1 v4 140 103.0 -103.0
637 648 2v N= 46 110 182.0 -182.0( 428 456 3¢ N+1 v3 130 98.0 -98.0
653 632 2v N= 46 110 182.0 -182.0( 434 453 2# N +2 »7 130 98.0 -98.0
660 623 24 N= 46 110 182.0 -182.0 460 424 3 N +1 &T 130 98.0 -98.0
427 457 3NO-1 vK 100 178.0 -178.0 532 555 3¢ N+1 2 130 98.0 -98.0
428 456 3NO-1 vK 100 178.0 -178.0( 544 549 3¢ N+1 v8 130 98.0 -98.0
547 546 5¢ O-1 vK 100 178.0 -178.0 548 545 3& N +1 &T 130 98.0 -98.0
646 645 3NV-1 v7 100 178.0 -178.0 554 533 4¢ N= &9 130 98.0 -98.0
421 431 2v N-1 46 -100 -9.0 9.0 649 636 3% N +1 &T 130 98.0 -98.0
527 521 2v N-1 46 -100 -9.0 9.0 656 629 2¢ N +2 a7 130 98.0 -98.0
544 549 24 S-1 + K -100 -9.0 9.0| 421 431 2NN= v3 120 80.0 -80.0
631 654 2v N-1 *A -100 -9.0 9.0| 448 445 3& N= v8 110 53.0 -53.0
650 635 24 S-1 a2 -100 -9.0 9.0| 451 436 3&#N= 8 110 53.0 -53.0
656 629 2v N-1 46 -100 -9.0 9.0| 526 522 3¢ N= v3 110 53.0 -53.0
447 446 3¢ V= v2 -110 -23.0 23.0( 547 546 24 S= v5 110 53.0 -53.0
647 644 3¢ O= vK -110 -23.0 23.0( 556 531 3#S= v5 110 53.0 -53.0
649 636 3¢ O= vK -110 -23.0 23.0| 559 528 3& N-= &T 110 53.0 -53.0
651 634 3¢ O= vK -110 -23.0 23.0( 626 659 3¢ S= ] 110 53.0 -53.0
425 459 3¢ O+1 vK -130 -47.0 47.0| 633 652 3&N-= &T 110 53.0 -53.0
434 453 3¢ V+1 vQ -130 -47.0 47.0( 655 630 3¢ N= v3 110 53.0 -53.0
450 437 3¢ O+1 vK -130 -47.0 47.0| 658 627 3& N-= v8 110 53.0 -53.0
532 555 3¢ O+1 vK -130 -47.0 47.0| 660 623 3& N-= v3 110 53.0 -53.0
523 525 3vyDN-1 46 -200 -114.0 114.0| 422 430 3¢ N-1 v8 -50 -138.0 138.0
530 557 4v N-2 *9 -200 -114.0 114.0| 423 429 3NS-1 A -50 -138.0 138.0
548 545 3vyDN-1 46 -200 -114.0 114.0| 427 457 44 N-1 v8 -50 -138.0 138.0
626 659 2vyDN-1 46 -200 -114.0 114.0| 432 455 3NN-1 v5 -50 -138.0 138.0
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655 630 3vyDN-1 46 -200 -114.0 114.0| 444 449 3NS-1 a] -50 -138.0 138.0
422 430 34 N -3 46 -300 -216.0 216.0| 454 433 3NS-1 s] -50 -138.0 138.0
452 435 3&D N -2 46 -500 -387.0 387.0| 523 525 3NS-1 v5 -50 -138.0 138.0
556 531 3&#D N -2 46 -500 -387.0 387.0| 552 535 44 N-1 v8 -50 -138.0 138.0
657 628 2ND S -2 a2 -500 -387.0 387.0| 637 648 3NS-1 &A -50 -138.0 138.0
423 429 3NV = v5 -600 -453.0 453.0 | 447 446 44 S-2 v6 -100 -202.0 202.0
444 449 3NV = v6 -600 -453.0 453.0| 530 557 3NN-2 v8 -100 -202.0 202.0
454 433 3NV = v5 -600 -453.0 453.0| 625 621 3NS-2 vA -100 -202.0 202.0
460 424 3NV = v6 -600 -453.0 453.0| 653 632 3NS-2 v6 -100 -202.0 202.0
534 553 3NO= vK -600 -453.0 453.0| 657 628 44 S-2 &A -100 -202.0 202.0
560 524 3NV-= v5 -600 -453.0 453.0| 647 644 4& N-3 v8 -150 -257.0 257.0
550 537 3NO+1 vK -630 -484.0 484.0| 650 635 4NN-4 v8 -200 -309.0 309.0
633 652 3¢DO= vK -670 -508.0 508.0| 450 437 6NN-5 v3 -250 -360.0 360.0
- 529 37.1 - 529 37.1
9 4Kn72 Basta kontrakt 10 4 Kn42 Basta kontrakt
Nord v E6543 2NT O =-120 Ost v K964 54 O =-650
oV +83 Alla + ED92
&KKn7 & ¢ v & NT &72 & ¢ v &N
a5 & ED963 N4 3 454 48753 4 ED106 N3 6523
v D7 v KKn82 S 43454 v D32 v EKn7 S36523
¢ EKKn752 410 0997 838 + 106 + K83 O 106 8 119
&#E1065 #432 V99788 #EKNn108 K43 V 106 8 119
« K1084 4 K9
v109 v 1085
+ D964 ¢ Kn754
D98 D965
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
433 421 3NV-3 v5 300 522.0 -522.0 553 536 1NN +2 &6 150 430.0 -430.0
423 431 3NDO-1 vT 200 445.0 -445.0| 433 421 44 O-1 v5 100 382.0 -382.0
435 454 3NV -2 v3 200 445.0 -445.0 ( 452 437 34 O-1 v8 100 382.0 -382.0
551 544 3NV-2 v3 200 445.0 -445.0( 455 434 44 O-1 v8 100 382.0 -382.0
621 631 3NV-2 v3 200 445.0 -445.0| 521 529 44 O-1 v5 100 382.0 -382.0
636 655 3NO-2 vT 200 445.0 -445.0( 533 556 INO+1 &6 -120 182.0 -182.0
452 437 3NV-1 v6 100 362.0 -362.0( 636 655 INO +1 v5 -120 182.0 -182.0
521 529 3NV-1 v4 100 362.0 -362.0( 634 657 34 O= v5 -140 149.0 -149.0
524 526 3NV-1 v4 100 362.0 -362.0 [ 427 458 1INO +2 +5 -150 149.0 -149.0
559 530 3NV-1 v2 100 362.0 -362.0( 429 456 INO +2 vT -150 149.0 -149.0
650 647 3NO-1 vT 100 362.0 -362.0( 453 436 INO+2 v5 -150 149.0 -149.0
656 635 3NO-1 L X:] 100 362.0 -362.0( 460 425 INO+2 vT -150 149.0 -149.0
533 556 2¢ V= v3 -90 224.0 -224.0 | 545 550 INO +2 v5 -150 149.0 -149.0
649 648 1INV = v3 -90 224.0 -2240( 555 534 INO+2 &3 -150 149.0 -149.0
535 554 24 S-2 *A -100 221.0 -221.0( 622 630 INO+2 L ! -150 149.0 -149.0
424 430 2¢ V +1 v3 -110 200.0 -200.0 [ 628 624 1INO +2 v5 -150 149.0 -149.0
429 456 2¢ V +1 &3 -110 200.0 -200.0( 646 651 INO +2 v2 -150 149.0 -149.0
460 425 3¢ V= a] -110 200.0 -200.0( 658 633 1INO +2 vT -150 149.0 -149.0
555 534 2NV = &7 -120 185.0 -185.0( 659 632 INO +2 v8 -150 149.0 -149.0
622 630 2NV= a7 -120 185.0 -185.0( 557 532 24 O+2 &6 -170 107.0 -107.0
453 436 3¢ V+1 vA -130 181.0 -181.0( 449 446 INO+3 v5 -180 105.0 -105.0
455 434 2¢ V +2 a2 -130 181.0 -181.0 527 523 INO+3 &6 -180 105.0 -105.0
660 626 2¢ V+2 a2 -130 181.0 -181.0( 528 522 INO +3 v5 -180 105.0 -105.0
548 547 34 S-3 *A -150 165.0 -165.0( 535 554 INO+3 &6 -180 105.0 -105.0
422 432 3NV = &7 -600 -255.0 255.0| 629 623 INO+3 &6 -180 105.0 -105.0
426 459 3NV = v4 -600 -255.0 255.0| 649 648 INO+3 &6 -180 105.0 -105.0
428 457 3NV = +8 -600 -255.0 255.0| 650 647 INO+3 &6 -180 105.0 -105.0
445 450 3NV = v3 -600 -255.0 255.0| 426 459 34 O+2 v5 -200 71.0 -71.0
448 447 3NV = v5 -600 -255.0 255.0| 548 547 34 O+2 +5 -200 71.0 -71.0
451 444 3NV = v5 -600 -255.0 255.0| 428 457 INO +4 &6 -210 69.0 -69.0
527 523 3NV= v4 -600 -255.0 255.0| 448 447 INO +4 &5 -210 69.0 -69.0
528 522 3NV= v2 -600 -255.0 255.0| 551 544 INO +4 »6 -210 69.0 -69.0
545 550 3NO= vT -600 -255.0 255.0| 560 525 INO +4 &6 -210 69.0 -69.0
549 546 3NV = v5 -600 -255.0 255.0| 660 626 1INO +4 &6 -210 69.0 -69.0
557 532 3NV= v3 -600 -255.0 255.0| 621 631 INO+5 &K -240 27.0 -27.0
560 525 3NO= vT -600 -255.0 255.0| 445 450 3NO= v5 -600 -325.0 325.0
625 627 3NV= v2 -600 -255.0 255.0| 559 530 3NO= v5 -600 -325.0 325.0
634 657 3NV-= v2 -600 -255.0 255.0 423 431 44 V= &6 -620 -350.0 350.0
654 637 3NO= vT -600 -255.0 255.0| 435 454 44 O= &6 -620 -350.0 350.0
659 632 3NO= vT -600 -255.0 255.0 | 451 444 44 O= LX) -620 -350.0 350.0
427 458 3N O +1 &8 -630 -288.0 288.0| 549 546 44 O= &6 -620 -350.0 350.0
449 446 3N O +1 vT -630 -288.0 288.0| 653 644 44 V= &7 -620 -350.0 350.0
552 537 3NV +1 vT -630 -288.0 288.0| 654 637 44 O= v5 -620 -350.0 350.0
553 536 3NO +1 vT -630 -288.0 288.0 422 432 44 V+1 *A -650 -388.0 388.0
629 623 3NO +1 vT -630 -288.0 288.0| 424 430 44 O+1 *4 -650 -388.0 388.0
652 645 3NV +1 v4 -630 -288.0 288.0| 524 526 44 O+1 +5 -650 -388.0 388.0
653 644 3NV +1 +8 -630 -288.0 288.0 552 537 44 O+1 +5 -650 -388.0 388.0
646 651 3N O +2 vT -660 -321.0 321.0| 625 627 44 O+1 v5 -650 -388.0 388.0
658 633 3N O +2 vT -660 -321.0 321.0| 656 635 44 O+1 &6 -650 -388.0 388.0
628 624 3ND O +1 vT -950 -528.0 528.0| 652 645 3N O +2 v8 -660 -388.0 388.0
- 531 71.3 - 531 71.3
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11 462 Basta kontrakt 12 « K62 Basta kontrakt
Syd vED876 5v SD-2-300 Vast v 975 5NT O =-460
Ingen *7 NS + 10975
#Kn9753 & ¢ v & NT #E105 & ¢ v & NT
«EKn74 4 K9853 N759 36 a4 « ED1073 N2 3232
v52 v 103 S75936 vEDKn1084 v- S22232
¢ KD5432 8 06 7 3 106 ¢+ KD63 + E82 0 1110111011
+10 #ED642 V6 7 3 106 *Kn2 #KD973 V 1110111010
« D10  Kn985
v KKn94 v K632
¢ EKn1096 ¢ Kn4
*K8 #3864
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
659 630 4vyDN= v3 590 569.0 -569.0| 436 455 6% O -2 +J 100 528.0 -528.0
423 433 4y S+2 + K 480 526.0 -526.0| 529 523 6N O -2 *J 100 528.0 -528.0
529 523 4v N +2 +8 480 526.0 -526.0( 525 527 44 O= +*J -420 20.0 -20.0
434 422 4v S+1 &T 450 504.0 -504.0| 423 433 3NO+1 +*J -430 20.0 -20.0
429 457 4y N= +8 420 480.0 -480.0 | 452 445 3NO+1 8 -430 20.0 -20.0
645 650 54D O -2 v9 300 402.0 -402.0( 559 532 3NO+1 8 -430 20.0 -20.0
651 644 3¢DV-2 46 300 402.0 -402.0( 645 650 3NO+1 +*J -430 20.0 -20.0
421 435 2y N+2 +8 170 301.0 -301.0| 651 644 3NO+1 48 -430 20.0 -20.0
628 622 3y N+1 +5 170 301.0 -301.0| 434 422 5v V= a2 -450 -28.0 28.0
453 444 3v S= +K 140 273.0 -273.0 | 450 447 4v V+1 v5 -450 -28.0 28.0
633 656 2y N+1 +8 140 273.0 -273.0| 453 444 4v V +1 A -450 -28.0 28.0
430 456 3¢ V-2 46 100 240.0 -240.0 | 454 437 4y V+1 A -450 -28.0 28.0
446 451 54DO-1 v9 100 240.0 -240.0 [ 534 557 4v V+1 v5 -450 -28.0 28.0
546 551 54 O-1 v9 50 189.0 -189.0 [ 553 544 4v V +1 v5 -450 -28.0 28.0
552 545 54 O-1 v9 50 189.0 -189.0( 653 636 4v V+1 a2 -450 -28.0 28.0
560 526 44 O-1 v9 50 189.0 -189.0| 421 435 3NO+2 *6 -460 -28.0 28.0
534 557 4y N-1 +8 -50 99.0 -99.0 424 432 3NO+2 +J -460 -28.0 28.0
449 448 5v S-2 s A -100 45.0 -45.0 425 431 3NO+2 LY -460 -28.0 28.0
450 447 5v N-2 +8 -100 45.0 -45.0| 427 459 3N O +2 +*J -460 -28.0 28.0
454 437 5vDN-1 +8 -100 45.0 -45.0 | 428 458 3N O +2 48 -460 -28.0 28.0
653 636 5vDN-1 +8 -100 45.0 -45.0 | 429 457 3N O +2 +J -460 -28.0 28.0
657 632 5v N-2 43 -100 45.0 -45.0| 430 456 3NV +2 *T -460 -28.0 28.0
658 631 4vyDN-1 a5 -100 45.0 -45.0| 446 451 3NO +2 a5 -460 -28.0 28.0
522 530 3a V= *7 -140 0.0 0.0| 449 448 3NO+2 +J -460 -28.0 28.0
436 455 5v N-3 +8 -150 -9.0 9.0| 460 426 3NV +2 *T -460 -28.0 28.0
460 426 5v N-3 +8 -150 -9.0 9.0 521 531 3NV +2 *T -460 -28.0 28.0
655 634 5v S-3 &T -150 -9.0 9.0| 522 530 3NO+2 +J -460 -28.0 28.0
660 625 5v N-3 3 -150 -9.0 9.0| 528 524 3NO +2 +*J -460 -28.0 28.0
553 544 34 O+1 v9 -170 -32.0 32.0| 536 555 3NO+2 8 -460 -28.0 28.0
556 535 34 O+1 v5 -170 -32.0 32.0| 546 551 3N O +2 +*J -460 -28.0 28.0
424 432 5vDN-2 +8 -300 -164.0 164.0| 549 548 3NV +2 *T -460 -28.0 28.0
452 445 5¢vDN-2 +8 -300 -164.0 164.0| 550 547 3NV +2 *T -460 -28.0 28.0
554 537 5vyDN-2 +8 -300 -164.0 164.0| 552 545 3NV +2 *T -460 -28.0 28.0
569 532 4vDN-2 43 -300 -164.0 164.0| 554 537 3N O +2 +*J -460 -28.0 28.0
621 629 4vyDN-2 3 -300 -164.0 164.0| 556 535 3NO +2 +J -460 -28.0 28.0
425 431 44 O= v9 -420 -278.0 278.0| 560 526 3NO +2 +*J -460 -28.0 28.0
428 458 44 O= v9 -420 -278.0 2780 621 629 3NO+2 ¢*J -460 -28.0 28.0
525 527 44 O= v9 -420 -278.0 278.0| 624 626 3NV +2 *T -460 -28.0 28.0
550 547 44 O= v9 -420 -278.0 278.0| 627 623 3NO +2 »5 -460 -28.0 28.0
627 623 44 O= v9 -420 -278.0 278.0| 628 622 3NO +2 +*J -460 -28.0 28.0
635 654 44 O= v9 -420 -278.0 278.0| 633 656 3NO +2 *J -460 -28.0 28.0
652 637 44 O= v4 -420 -278.0 278.0| 635 654 3NO+2 +*J -460 -28.0 28.0
549 548 44 O+1 v9 -450 -308.0 308.0 648 647 3NV +2 *T -460 -28.0 28.0
624 626 44 O +1 v9 -450 -308.0 308.0( 649 646 3NV +2 &5 -460 -28.0 28.0
648 647 54 O= &K -450 -308.0 308.0| 652 637 3NO+2 *4 -460 -28.0 28.0
649 646 44 O +2 &K -480 -343.0 343.0| 655 634 3NO+2 »8 -460 -28.0 28.0
521 531 44DV= *7 -590 -425.0 425.0| 657 632 3NO+2 +J -460 -28.0 28.0
536 555 44DO= v2 -590 -425.0 4250 658 631 3NO+2 T -460 -28.0 28.0
427 459 44D O +1 v9 -690 -495.0 495.0| 659 630 3NO+2 +*J -460 -28.0 28.0
528 524 44D O +1 &K -690 -495.0 495.0| 660 625 3N O +2 +J -460 -28.0 28.0
- 533 13.8 - 533 13.8
13 «D Bésta kontrakt 14 49 Bésta kontrakt
Nord v 9873 2y N =110 Ost v EKKn7 64 O D -4 800
Alla ¢ K752 Ingen + KDKn103
#10987 & ¢ v & NT *872 & ¢ v & NT
2 Kn842 #E53 N8 6 876 4 EDKn743 &K852 N 1210105 7
v 652 vKD4 S86 876 v D653 v102 S 1211115 7
+ E96 + D1084 056567 4976 + 852 000080
#D43 #K65 V56557 »- #D654 V00280
» K10976 + 106
v EKn10 v 984
¢ Kn3 ¢E4
#EKn2 #EKKn1093
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
435 423 2vyDN-= +8 670 583.0 -583.0| 424 434 64 S+1 +6 940 506.0 -506.0
631 625 INO-3 aT 300 327.0 -327.0 654 647 64 S+1 v5 940 506.0 -506.0
422 436 INO-2 +Q 200 226.0 -226.0 | 447 452 6+ S= & A 920 490.0 -490.0
554 545 INV-2 +Q 200 226.0 -226.0| 521 533 6# N= s A 920 490.0 -490.0
430 457 2v N+1 +8 140 151.0 -151.0| 623 633 64 S= s A 920 490.0 -490.0
526 528 24 S+l 3 140 151.0 -151.0| 630 626 6% S= s A 920 490.0 -490.0
622 634 1a S+2 *2 140 151.0 -151.0| 554 545 5¢DN= *6 550 166.0 -166.0
627 629 24 S+1 *3 140 151.0 -151.0| 435 423 54DV- *K 500 100.0 -100.0
429 458 14 S+1 v3 110 107.0 -107.0| 553 546 54DV -3 vA 500 100.0 -100.0
530 524 14 S+1 *3 110 107.0 -107.0| 559 534 54DV -3 vA 500 100.0 -100.0
563 546 24 S= v2 110 107.0 -107.0| 660 628 54DV -3 +K 500 100.0 -100.0
648 653 24 S= v2 110 107.0 -107.0| 430 457 5# S+2 ¢+6 440 36.0 -36.0
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658 637 24 S= *3 110 107.0 -107.0 431 456 5& S +2 *7 440 36.0 -36.0
426 432 INO-1 a7 100 107.0 -107.0 | 455 444 5# S +2 v3 440 36.0 -36.0
437 421 INO-1 +J 100 107.0 -107.0 622 634 5& S +2 v5 440 36.0 -36.0
460 427 INO-1 49 100 107.0 -107.0| 652 649 5& S +2 +6 440 36.0 -36.0
521 533 INO-1 a5 100 107.0 -107.0| 656 645 5& S +2 +6 440 36.0 -36.0
522 532 INO-1 a7 100 107.0 -107.0 | 422 436 54 S+1 .7 420 3.0 -3.0
529 525 INV-1 *9 100 107.0 -107.0 425 433 5& S+1 aA 420 3.0 -3.0
537 556 INV-1 £Y6) 100 107.0 -107.0 | 428 459 5¢ N +1 a5 420 3.0 -3.0
624 632 INV-1 &T 100 107.0 -107.0 429 458 5& S +1 aA 420 3.0 -3.0
660 628 2NO-1 a7 100 107.0 -107.0 | 453 446 5& S +1 aA 420 3.0 -3.0
454 445 1s4 S= +6 80 79.0 -79.0| 454 445 5& S +1 aA 420 3.0 -3.0
651 650 14 S= v2 80 79.0 -79.0| 460 427 54 S+1 v5 420 3.0 -3.0
655 646 14 S= *3 80 79.0 -79.0| 530 524 54 S+1 aA 420 3.0 -3.0
656 645 1la S= #3 80 79.0 -79.0| 537 556 5& S +1 aA 420 3.0 -3.0
424 434 INO= a7 -90 -139.0 139.0| 550 549 5#S+1 aA 420 3.0 -3.0
431 456 INV= 2 Q -90 -139.0 139.0| 555 544 54 S+1 +3 420 3.0 -3.0
455 444 INO= a5 -90 -139.0 139.0| 557 536 5# S +1 aA 420 3.0 -3.0
550 549 INV= 4Q -90 -139.0 139.0| 560 527 5# S +1 aA 420 3.0 -3.0
555 544 1INO= 3 -90 -139.0 139.0| 621 635 54 S+1 aA 420 3.0 -3.0
559 534 INO= 46 -90 -139.0 139.0| 651 650 5# S +1 aA 420 3.0 -3.0
654 647 INV= &T -90 -139.0 139.0| 655 646 5# S+1 aA 420 3.0 -3.0
428 459 24 S-1 v2 -100 -139.0 139.0| 658 637 5# S+1 aA 420 3.0 -3.0
450 449 1s4 S-1 v2 -100 -139.0 139.0| 426 432 5&S= aA 400 -25.0 25.0
451 448 24 S-1 v5 -100 -139.0 139.0| 522 532 5#S= aA 400 -25.0 25.0
523 531 1s4 S-1 v2 -100 -139.0 139.0| 636 659 5#S-= s A 400 -25.0 25.0
547 552 24 S-1 *2 -100 -139.0 139.0| 648 653 5& S-= aA 400 -25.0 25.0
560 527 24 S-1 v5 -100 -139.0 139.0| 523 531 44DV-2 vA 300 -132.0 132.0
621 635 INN-1 46 -100 -139.0 139.0| 526 528 44DV -2 ¢+ K 300 -132.0 132.0
630 626 24 N-1 a5 -100 -139.0 139.0| 551 548 44DV-2 + K 300 -132.0 132.0
636 659 24 S-1 &3 -100 -139.0 139.0| 644 657 44DV-2 *+K 300 -132.0 132.0
644 657 24 N-1 2 -100 -139.0 139.0| 437 421 44 S+2 aA 170 -271.0 271.0
425 433 INO+1 49 -120 -179.0 179.0| 529 525 44 S+1 aA 150 -294.0 294.0
447 452 1INV +1 4Q -120 -179.0 179.0| 547 552 34DV-1 vA 100 -341.0 341.0
551 548 INO +1 49 -120 -179.0 179.0| 624 632 34DV-1 vA 100 -341.0 341.0
623 633 1INV +1 4Q -120 -179.0 179.0| 451 448 64 S-1 aA -50 -456.0 456.0
652 649 1INV +1 4Q -120 -179.0 179.0| 627 629 4v N-1 46 -50 -456.0 456.0
453 446 24 S-2 ¢+6 -200 -261.0 261.0| 450 449 3NS-2 ] -100 -502.0 502.0
557 536 2N S-2 +J -200 -261.0 261.0| 631 625 3NS-3 ] -150 -516.0 516.0
535 - -68.6 535 - -68.6
15 « D10 Bésta kontrakt 16 « D1076 Bésta kontrakt
Syd v ED9 24 V =-110 Vast vKKn4 2NT N =120
NS + KKn987 ov ¢ KKn65
#3865 & ¢ v &N 73 & ¢ v &N
4 K875 4E943 N6 6 756 4Kn984 4532 N7 956 8
v Kn7 v K83 S65756 v 1095 v E8732 S7956 8
¢ 543 + E1062 077587 2 ¢+ E973 06 376 3
&#KKn94 #73 V77587 #DKn9%64 &E V6 3763
« Kn62 « EK
v 106542 vD6
+D + D1084
#ED102 #K10852
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
429 459 2v S +2 +3 170 318.0 -318.0( 621 633 3NDN = a2 550 480.0 -480.0
460 428 1lv S+1 a7 110 241.0 -241.0 423 437 3vyDO-2 s A 500 445.0 -445.0
548 553 2v S= a7 110 241.0 -241.0 ( 454 447 3NN+1 ¢ A 430 381.0 -381.0
555 546 2v S= *2 110 241.0 -241.0 536 559 3NN+1 a2 430 381.0 -381.0
425 435 INN= a4 90 220.0 -220.0( 544 557 3NN+1 7 430 381.0 -381.0
629 625 INN= a4 90 220.0 -220.0 637 656 3NN +1 +6 430 381.0 -381.0
522 534 1¢ N= &7 70 213.0 -213.0( 650 649 3NN +1 a2 430 381.0 -381.0
521 535 34 V-1 vA 50 169.0 -169.0( 432 456 3NN= +3 400 360.0 -360.0
651 648 34 O-1 +Q 50 169.0 -169.0( 657 636 3NN= v2 400 360.0 -360.0
653 646 24 V-1 &5 50 169.0 -169.0 659 634 4y O-2 & K 200 156.0 -156.0
421 445 2v S-1 a7 -100 -21.0 21.0| 431 457 2NN+1 v2 150 101.0 -101.0
431 457 3v S-1 8 -100 -21.0 21.0| 555 546 2NN +1 v2 150 101.0 -101.0
432 456 3v N-1 &7 -100 -21.0 21.0| 436 424 4¢ N= A 130 83.0 -83.0
454 447 3v S-1 a2 -100 -21.0 21.0| 460 428 4¢ N= A 130 83.0 -83.0
524 532 3v S-1 a7 -100 -21.0 21.0( 426 434 2NN= v3 120 76.0 -76.0
530 526 3v S-1 a7 -100 -21.0 21.0( 429 459 2NN= v2 120 76.0 -76.0
536 559 INN-1 a4 -100 -21.0 21.0( 554 547 2NN= v2 120 76.0 -76.0
551 550 3v S-1 +3 -100 -21.0 21.0( 623 631 2NN= v2 120 76.0 -76.0
552 549 INN-1 43 -100 -21.0 21.0| 455 446 24 N= vA 110 48.0 -48.0
554 547 2v N-1 v3 -100 -21.0 21.0| 531 525 3¢ N= a2 110 48.0 -48.0
556 545 3v S-1 &K -100 -21.0 21.0| 556 545 3¢ S= vT 110 48.0 -48.0
623 631 INN-1 a4 -100 -21.0 21.0| 448 453 2v O-1 +5 100 37.0 -37.0
630 624 3v S-1 a5 -100 -21.0 21.0| 451 450 3vO-1 +5 100 37.0 -37.0
635 658 3v N-1 LY -100 -21.0 21.0( 452 449 3vO-1 &K 100 37.0 -37.0
654 645 INN-1 43 -100 -21.0 21.0| 521 535 2¢v0-1 vQ 100 37.0 -37.0
657 636 2v S-1 vJ -100 -21.0 210 651 648 24 V-1 6 100 37.0 -37.0
660 627 3v S-1 46 -100 -21.0 21.0| 552 549 2# N-= v5 90 34.0 -34.0
426 434 24 O= +Q -110 -24.0 24.0| 425 435 3NN-1 v2 -50 -127.0 127.0
427 433 24 O= +Q -110 -24.0 240 ( 427 433 3NN-1 v2 -50 -127.0 127.0
430 458 24 O= +Q -110 -24.0 240 444 422 34 S-1 v5 -50 -127.0 127.0
436 424 24 O= +Q -110 -24.0 24.0| 527 529 3NN-1 v3 -50 -127.0 127.0
451 450 24 V= »5 -110 -24.0 240( 551 550 3NN-1 v2 -50 -127.0 127.0
527 529 24 O= +Q -110 -24.0 240( 560 528 3NN-1 v2 -50 -127.0 127.0
531 525 24 O= +Q -110 -24.0 240| 635 658 3NN-1 +3 -50 -127.0 127.0
544 557 24 O= +Q -110 -24.0 240( 653 646 3NN-1 v2 -50 -127.0 127.0
621 633 24 O= +Q -110 -24.0 24.0| 430 458 24DS-1 vT -100 -195.0 195.0
626 628 24 V= &5 -110 -24.0 240| 524 532 3#S-2 vT -100 -195.0 195.0
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637 656 24 V= vA -110 -24.0 240| 626 628 24D S-1 v5 -100 -195.0 195.0
647 652 24 O= +Q -110 -24.0 24.0| 629 625 24DS-1 vT -100 -195.0 195.0
659 634 24 O= +Q -110 -24.0 240| 654 645 34 S-2 vT -100 -195.0 195.0
452 449 24 O +1 +Q -140 -69.0 69.0| 655 644 3NDN-1 v2 -100 -195.0 195.0
523 533 34 V= vA -140 -69.0 69.0| 660 627 3% S-2 vT -100 -195.0 195.0
655 644 24 V+1 &5 -140 -69.0 69.0( 421 445 1v O+l & K -110 -199.0 199.0
423 437 4v N-2 &7 -200 -159.0 159.0| 548 553 1lv O+1 *4 -110 -199.0 199.0
444 422 2v S-2 &9 -200 -159.0 159.0| 622 632 2v O= & K -110 -199.0 199.0
448 453 3v S-2 a7 -200 -159.0 159.0| 647 652 2v O= & K -110 -199.0 199.0
455 446 2v N -2 &3 -200 -159.0 159.0( 630 624 2v O+1 a A -140 -232.0 232.0
650 649 3v S-2 +3 -200 -159.0 159.0( 523 533 34#DS-2 vT -300 -378.0 378.0
560 528 3v S-3 a7 -300 -265.0 265.0| 530 526 34DS-2 *2 -300 -378.0 378.0
622 632 2¢ N-3 &7 -300 -265.0 265.0| 522 534 34RDN-2 &A -600 -576.0 576.0
- 537 72.4 - 537 72.4
17 4109732 Basta kontrakt 18 43 Basta kontrakt
Nord v- 3¢ N =110 Ost v EKKn75 5BNT S =660
Ingen + KD95 NS + KD6
&EK52 & ¢ v & NT &Kn754 & ¢ v & NT
aD4 & K865 N7 9586 & D52 & Kn9764 N 107 9 7 10
v EKKn1053 v 94 S6 96 86 vD10632 ¥9 S 107 9 7 11
¢+ E10 ¢ 872 O6 375€6 ¢ EKn83 ¢ 10542 025452
974 D863 V6375686 »E #1098 V26146 2
& EKn « EK108
v D8762 v84
¢ Kn643 ¢ 97
&#Knl10 #KD632
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
430 459 3vDV-2 &A 300 278.0 -278.0 | 437 425 44D O-5 &K 1100 559.0 -559.0
437 425 3vDV-2 +K 300 278.0 -278.0 | 431 458 3NN +3 v8 690 231.0 -231.0
626 634 3vyDV-2 &A 300 278.0 -278.0| 522 536 3NN +3 v9 690 231.0 -231.0
650 655 3vDV-2 &A 300 278.0 -278.0| 528 530 3NS+3 a2 690 231.0 -231.0
654 651 3vDV-2 SA 300 278.0 -278.0 531 527 3NN+3 v9 690 231.0 -231.0
633 627 24 N+1 v9 140 105.0 -105.0| 653 652 3NN +3 a3 690 231.0 -231.0
660 630 34 N= v9 140 105.0 -105.0 | 422 446 3NN +2 46 660 198.0 -198.0
653 652 3¢ N+1 v9 130 89.0 -89.0| 424 444 3NN +2 46 660 198.0 -198.0
421 447 24 N= 7 110 60.0 -60.0 | 445 423 3NN+2 *4 660 198.0 -198.0
531 527 24 N= v9 110 60.0 -60.0 449 454 3NN+2 v9 660 198.0 -198.0
644 622 24 N= &3 110 60.0 -60.0 | 453 450 3NN +2 +6 660 198.0 -198.0
431 458 2v V-2 &K 100 56.0 -56.0 [ 455 448 3N S +2 a2 660 198.0 -198.0
449 454 2vDV-1 &A 100 56.0 -56.0 | 460 429 3NN+2 *4 660 198.0 -198.0
453 450 2vDV-1 SA 100 56.0 -56.0 524 534 3NN+2 *4 660 198.0 -198.0
455 448 3v V-2 a7 100 56.0 -56.0 525 533 3NN+2 v9 660 198.0 -198.0
532 526 3v V-2 a2 100 56.0 -56.0 532 526 3NS+2 +3 660 198.0 -198.0
537 521 3v V-2 SA 100 56.0 -56.0 549 554 3NN+2 &T 660 198.0 -198.0
549 554 2vyDV-1 &A 100 56.0 -56.0 | 553 550 3NN+2 *4 660 198.0 -198.0
552 551 2vyDV-1 &A 100 56.0 -56.0 | 556 547 3NN+2 *4 660 198.0 -198.0
553 550 2vDV-1 &K 100 56.0 -56.0 559 544 3NN+2 *2 660 198.0 -198.0
557 546 3v V-2 &A 100 56.0 -56.0 | 624 636 3NN+2 *4 660 198.0 -198.0
623 637 3v V-2 &A 100 56.0 -56.0 625 635 3NN+2 v9 660 198.0 -198.0
632 628 3v V-2 &A 100 56.0 -56.0 633 627 3NS+2 +3 660 198.0 -198.0
646 659 2vyDV-1 &A 100 56.0 -56.0 646 659 3NN +2 v8 660 198.0 -198.0
656 649 2vyDV-1 &A 100 56.0 -56.0 | 656 649 3NN +2 v9 660 198.0 -198.0
657 648 3v V-2 SA 100 56.0 -56.0 | 658 647 3NN +2 +5 660 198.0 -198.0
658 647 2vyDV-1 &A 100 56.0 -56.0 452 451 3NN+1 LY 630 158.0 -158.0
424 444 29 V-1 &A 50 -24.0 24.0| 523 535 3NN+1 a7 630 158.0 -158.0
427 435 2v V-1 SA 50 -24.0 24.0| 557 546 3NN+1 v9 630 158.0 -158.0
432 457 2v O-1 &A 50 -24.0 240| 650 655 3NN+1 &T 630 158.0 -158.0
445 423 2v V-1 &A 50 -24.0 24.0| 427 435 3NN= LY 600 122.0 -122.0
522 536 2v V-1 &A 50 -24.0 240| 430 459 54 S= *A 600 122.0 -122.0
524 534 2v V-1 &A 50 -24.0 240 660 630 3¢DV-2 &5 300 -139.0 139.0
525 533 2v V-1 &A 50 -24.0 24.0| 560 529 1v O-4 a3 200 -234.0 234.0
555 548 2v V-1 +K 50 -24.0 24.0| 421 447 1y V-3 a3 150 -281.0 281.0
559 544 2v V-1 &A 50 -24.0 240| 552 551 44 S+1 *A 150 -281.0 281.0
560 529 2v V-1 &A 50 -24.0 24.0| 654 651 1v V-3 ¢+ K 150 -281.0 281.0
625 635 2v V-1 SA 50 -24.0 240| 433 456 34 S+1 v3 130 -291.0 291.0
460 429 3¢ N-1 v9 -50 -135.0 135.0( 632 628 3% S+1 v2 130 -291.0 291.0
426 436 3N S-2 vJ -100 -192.0 192.0| 432 457 5& N-1 v2 -100 -440.0 440.0
452 451 4e N-2 v9 -100 -192.0 192.0 537 521 5 S-1 v4 -100 -440.0 440.0
556 547 24 N-2 v9 -100 -192.0 192.0 623 637 24 N-1 LY -100 -440.0 440.0
422 446 2v V= &A -110 -197.0 197.0( 626 634 4v N-1 *4 -100 -440.0 440.0
523 535 2v V= A -110 -197.0 197.0| 644 622 5 S-1 v3 -100 -440.0 440.0
621 645 2v V= a2 -110 -197.0 197.0| 657 648 5# S-1 v3 -100 -440.0 440.0
629 631 2v V= &A -110 -197.0 197.0| 426 436 4vDN-1 &T -200 -490.0 490.0
624 636 2v V+1 SA -140 -242.0 242.0| 555 548 64D S-1 a3 -200 -490.0 490.0
528 530 2v N-3 *2 -150 -245.0 245.0| 629 631 64 S-2 *A -200 -490.0 490.0
433 456 2vyDV= a2 -470 -515.0 515.0| 621 645 4vyDN-2 LY -500 -642.0 642.0
545 - -22.2 545 - -22.2
428 434 A+/A- 75.0 -75.0| 428 434 A+/A- 75.0 -75.0
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19 10 Basta kontrakt 20 4 10865 Basta kontrakt
Syd vK5 7% S D -6 -1400 Vast v 87542 7% V D -5 1400
ov + K10985 Alla + E109
#ED1094 & ¢ v & NT &5 & ¢ v & NT
& K65 « ED98732 N76111 473 & EKn942 N 5 12128 11
vKnl1073 vED4 S76111 v 1096 vD S 5 12128 11
¢ E63 ¢ Kn2 04 5 121211 ¢+ D54 + 86 081151
#KKn5 *6 vV 55 121212 #DKn1087 #K9643 v81151
« Kn4 « KD
v 9862 v EKKn3
¢+ D74 ¢ KKn732
#8732 &E2
Par Kontr ut Res Poang Par Kontr ut Res Poang
526 534 4y V-3 +4 300 682.0 -682.0 | 427 437 54DV -3 v2 800 245.0 -245.0
653 650 64 O-1 *4 100 622.0 -622.0( 453 452 3NN +3 a2 690 111.0 -111.0
427 437 34 O+3 &3 -230 436.0 -436.0 | 422 448 4v N +2 +8 680 111.0 -111.0
556 549 54D S -2 a5 -300 388.0 -388.0 [ 423 447 4v N+2 +8 680 111.0 -111.0
622 636 5#DS-3 a2 -500 201.0 -201.0 | 432 458 4v N +2 aA 680 111.0 -111.0
422 448 44 O +1 *4 -650 21.0 -21.0| 433 457 4y N+2 +8 680 111.0 -111.0
423 447 44 O +1 +4 -650 21.0 -21.0| 434 456 4v N +2 s A 680 111.0 -111.0
425 445 44 O +1 +3 -650 21.0 -21.0| 446 424 4y N+2 aA 680 111.0 -111.0
433 457 4e V +1 A -650 21.0 -21.0| 450 455 4v N+2 +8 680 111.0 -111.0
444 426 44 O +1 ¢ 7 -650 21.0 -21.0| 460 430 4v N+2 +8 680 111.0 -111.0
454 451 44 O+1 *4 -650 21.0 -21.0| 525 535 4v N+2 +8 680 111.0 -111.0
521 545 44 O+1 +Q -650 21.0 -21.0| 526 534 4v S+2 +8 680 111.0 -111.0
524 536 54 O= +4 -650 21.0 -21.0| 529 531 4y N+2 +8 680 111.0 -111.0
525 535 44 O+1 *4 -650 21.0 -21.0| 533 527 4v N+2 aA 680 111.0 -111.0
532 528 44 O+1 &3 -650 21.0 -21.0| 560 530 4v N+2 aA 680 111.0 -111.0
533 527 54 O= »3 -650 21.0 -21.0| 622 636 4y N+2 +8 680 111.0 -111.0
544 522 44 O+1 +4 -650 21.0 -21.0| 624 634 4v S+2 &Q 680 111.0 -111.0
546 559 54 O= *4 -650 21.0 -21.0| 628 630 4v N +2 aA 680 111.0 -111.0
553 552 44 O +1 3 -650 21.0 -21.0| 631 627 4y N+2 s A 680 111.0 -111.0
554 551 54 O= 3 -650 21.0 -21.0| 645 658 4v N +2 +8 680 111.0 -111.0
560 530 44 O+1 &3 -650 21.0 -21.0| 652 651 4y N+2 +8 680 111.0 -111.0
623 635 44 V+1 *T -650 21.0 -21.0| 653 650 4v N+2 +8 680 111.0 -111.0
645 658 44 O +1 +4 -650 21.0 -21.0| 659 644 4y N+2 »3 680 111.0 -111.0
652 651 44 O+1 *4 -650 21.0 -21.0| 421 449 4v N+1 &3 650 68.0 -68.0
657 646 44 O +1 +4 -650 21.0 -21.0| 425 445 4v N+1 *6 650 68.0 -68.0
659 644 54 O= »3 -650 21.0 -21.0| 428 436 4v S+1 *0Q 650 68.0 -68.0
421 449 44 O +2 *4 -680 -25.0 250 429 435 4v S+1 »2 650 68.0 -68.0
428 436 44 O +2 +4 -680 -25.0 250 431 459 4v N+1 *3 650 68.0 -68.0
429 435 4e V +2 2 -680 -25.0 25.0 | 444 426 4v S+1 a5 650 68.0 -68.0
431 459 44 O +2 v9 -680 -25.0 250 454 451 4v N+1 &3 650 68.0 -68.0
432 458 54 O +1 +4 -680 -25.0 250 524 536 4v N+1 »3 650 68.0 -68.0
434 456 54 O +1 »3 -680 -25.0 250 532 528 4v N+1 aA 650 68.0 -68.0
450 455 54 O+1 *4 -680 -25.0 25.0| 544 522 4¥ N+1 *0Q 650 68.0 -68.0
453 452 44 O +2 +4 -680 -25.0 250 546 559 4v N +1 »3 650 68.0 -68.0
523 537 44 O +2 »3 -680 -25.0 25.0( 550 555 4v N +1 »3 650 68.0 -68.0
529 531 44 O+2 *4 -680 -25.0 250 553 552 4v N+1 aA 650 68.0 -68.0
550 555 44 O +2 +4 -680 -25.0 250 554 551 4v N+1 s A 650 68.0 -68.0
557 548 4e O +2 +5 -680 -25.0 25.0 557 548 4v N +1 a2 650 68.0 -68.0
624 634 44 O+2 *4 -680 -25.0 250 625 633 4v N+1 &3 650 68.0 -68.0
625 633 44 V+2 oT -680 -25.0 250 632 626 4v S+1 L o) 650 68.0 -68.0
631 627 44 O +2 *4 -680 -25.0 250 657 646 4v N+1 *6 650 68.0 -68.0
632 626 44 O +2 v9 -680 -25.0 250 660 629 4v N +1 &K 650 68.0 -68.0
637 621 44 O +2 ¢+ K -680 -25.0 250 637 621 3v N+3 »3 230 -361.0 361.0
655 648 4a V+2 +9 -680 -25.0 25,0 655 648 3¢ S+2 a7 150 -438.0 438.0
660 629 54 O+1 *4 -680 -25.0 25.0| 656 647 3¢ S+2 a7 150 -438.0 438.0
628 630 54#DS-4 a5 -800 -161.0 161.0| 623 635 2¢ S+2 a7 130 -442.0 442.0
460 430 54D N-5 +J -1100 -441.0 4410 521 545 6v N-1 aA -100 -570.0 570.0
649 654 54D N-5 aA -1100 -441.0 441.0| 556 549 6v N-1 &3 -100 -570.0 570.0
446 424 64 O= »3 -1430 -626.0 626.0| 649 654 6v S-1 *0Q -100 -570.0 570.0
656 647 64 O= *4 -1430 -626.0 626.0| 523 537 3NS-2 *0Q -200 -590.0 590.0
- 547 -16.9 - 547 -16.9
21 4« K93 Bésta kontrakt 22 473 Bésta kontrakt
Nord v6 5v O =-450 Ost v 1083 ANT O =-630
NS 49732 ov ¢ K765
#Kn10975 & ¢ v & NT #6542 & ¢ v & NT
442 4 Kn85 N41161 4 DKn54 &K N3 3363
v EKn1042 vK83 S41161 vE62 v KD95 S33363
¢ KD5 + E1084 09 11117 8 ¢+Kn94 ¢ D1082 09 109 7 10
»D82 #EK3 vV 9 11117 8 #E109 #KD87 vV 9 109 7 10
« ED1076 « E109862
v D975 v Kn74
¢ Kn6 ¢+ E3
*64 #Kn3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
423 449 3NO-1 46 50 341.0 -341.0| 526 536 4v O-2 v4 200 633.0 -633.0
428 444 3NO-1 46 50 341.0 -341.0( 530 532 24DS-2 A -300 362.0 -362.0
432 459 3NO-1 2 Q 50 341.0 -341.0( 559 548 24DS-2 vA -300 362.0 -362.0
435 456 3NO-1 46 50 341.0 -341.0( 422 450 3NV= a7 -600 24.0 -24.0
454 453 3NO-1 aT 50 341.0 -341.0( 426 446 3NV = a7 -600 24.0 -24.0
455 452 3NO-1 46 50 341.0 -341.0( 525 537 3NV-= a7 -600 24.0 -24.0
524 544 3NO-1 a4 50 341.0 -341.0 | 424 448 3NV +1 a7 -630 -25.0 25.0
525 537 3NO-1 46 50 341.0 -341.0( 428 444 3NV +1 a9 -630 -25.0 25.0
527 535 3NO-1 a7 50 341.0 -341.0( 429 437 3NO+1 a7 -630 -25.0 25.0
528 534 4v V-1 43 50 341.0 -341.0| 430 436 3NV +1 a7 -630 -25.0 25.0
530 532 3NO-1 46 50 341.0 -341.0( 432 459 3NO+1 aT -630 -25.0 25.0
547 521 3NV-1 46 50 341.0 -341.0| 434 457 3NO+1 49 -630 -25.0 25.0
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554 553 3NO-1 46 50 341.0 -341.0| 435 456 3NV +1 a7 -630 -25.0 25.0
559 548 3NO-1 46 50 341.0 -341.0| 445 427 3NV +1 a7 -630 -25.0 25.0
560 531 3NO-1 46 50 341.0 -341.0( 451 421 3NO+1 a2 -630 -25.0 25.0
627 637 3NO-1 46 50 341.0 -341.0| 454 453 3NV +1 a7 -630 -25.0 25.0
634 630 3NO-1 46 50 341.0 -341.0| 460 431 3NV +1 a7 -630 -25.0 25.0
659 650 4v O-1 *6 50 341.0 -341.0| 524 544 3NV +1 a7 -630 -25.0 25.0
526 536 4¢ O+1 aA -150 144.0 -144.0( 527 535 3NV +1 a7 -630 -25.0 25.0
429 437 4y V= &K -420 -144.0 144.0| 528 534 3NV +1 a7 -630 -25.0 25.0
447 425 4v V= 43 -420 -144.0 1440| 533 529 3NO+1 48 -630 -25.0 25.0
625 645 4v V= LN -420 -144.0 144.0| 545 523 3NV +1 a7 -630 -25.0 25.0
626 644 4y O= aA -420 -144.0 144.0| 547 521 3NV +1 a7 -630 -25.0 25.0
658 651 4v O= +J -420 -144.0 144.0| 551 556 3NV +1 a7 -630 -25.0 25.0
422 450 4v O+1 *J -450 -193.0 193.0| 555 552 3NV +1 a7 -630 -25.0 25.0
434 457 4v V +1 a2 -450 -193.0 193.0| 557 550 3NV +1 a7 -630 -25.0 25.0
522 546 4v V +1 43 -450 -193.0 193.0| 560 531 3NO+1 48 -630 -25.0 25.0
533 529 4v V+1 43 -450 -193.0 193.0| 621 649 3NV +1 a7 -630 -25.0 25.0
557 550 4v O +1 *J -450 -193.0 193.0| 623 647 3NV +1 43 -630 -25.0 25.0
635 629 4v O+1 *6 -450 -193.0 193.0| 625 645 3NV +1 a7 -630 -25.0 25.0
646 624 4v V+1 43 -450 -193.0 193.0| 626 644 3NO +1 49 -630 -25.0 25.0
648 622 4y O +1 &8 -450 -193.0 193.0| 627 637 3NO+1 48 -630 -25.0 25.0
451 421 3N QO +2 46 -460 -193.0 193.0| 628 636 3NV +1 a7 -630 -25.0 25.0
424 448 4v O +2 *J -480 -225.0 225.0| 631 633 3NV+1 a7 -630 -25.0 25.0
426 446 4v V +2 »J -480 -225.0 225.0| 634 630 3NO+1 49 -630 -25.0 25.0
430 436 4v O+2 *6 -480 -225.0 225.0| 635 629 3NV +1 a7 -630 -25.0 25.0
433 458 4v V +2 &J -480 -225.0 225.0| 646 624 3NV +1 a7 -630 -25.0 25.0
445 427 4v O +2 »6 -480 -225.0 225.0| 648 622 3NV +1 a7 -630 -25.0 25.0
460 431 4y O +2 *6 -480 -225.0 225.0| 652 657 3NV+1 a7 -630 -25.0 25.0
545 523 4v O +2 *6 -480 -225.0 225.0| 655 654 3NV+1 a7 -630 -25.0 25.0
551 556 4v O +2 »6 -480 -225.0 225.0| 656 653 3NV +1 &2 -630 -25.0 25.0
555 552 4v O +2 *6 -480 -225.0 225.0| 659 650 3NV +1 a7 -630 -25.0 25.0
621 649 4v O +2 »6 -480 -225.0 225.0| 660 632 3NO+1 a2 -630 -25.0 25.0
623 647 4y O +2 &4 -480 -225.0 225.0| 423 449 3NO +2 49 -660 -72.0 72.0
628 636 4v O +2 &7 -480 -225.0 225.0| 433 458 3NV +2 a7 -660 -72.0 72.0
631 633 4v O +2 »6 -480 -225.0 225.0| 447 425 3NO +2 49 -660 -72.0 72.0
652 657 4y V+2 »J -480 -225.0 2250 455 452 3NO +2 46 -660 -72.0 72.0
655 654 4y O +2 *6 -480 -225.0 225.0| 522 546 3NO+2 a2 -660 -72.0 72.0
656 653 4v O +2 *6 -480 -225.0 225.0| 554 553 3NO+2 49 -660 -72.0 72.0
660 632 4v O +2 *4 -480 -225.0 225.0| 658 651 3NV +2 a7 -660 -72.0 72.0
- 549 -28.2 - 549 -28.2
23 « EK84 Bésta kontrakt 24 1064 Bésta kontrakt
Syd v DKn652 5¢ VD-1200 Vast v EK8762 1v N =80
Alla + 109 Ingen ¢ 432
K9 & ¢ v & NT &7 & ¢ v o N
4 D932 4 Knl105 N 6 3 105 7 a4 KD82 #E7 N757605
v- v K94 S 6 3 105 7 v D54 v Kn103 S75765
¢ DKn53 + EK762 O7 103 7 6 ¢+ Kn105 ¢ ED976 O56 456
#EKn1087 #53 vV 7 103 7 6 #DKn9 #1053 V56456
476 « Kn953
v E10873 v9
+ 84 + K8
D642 #EK8642
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
627 635 3NRD O -2 +9 1000 632.0 -632.0( 528 536 5% V-6 vA 300 350.0 -350.0
460 432 3vDS+1 a3 930 594.0 -594.0( 654 653 5¢ O-5 A 250 304.0 -304.0
660 631 34DV-3 vQ 800 535.0 -535.0( 531 533 3NO-4 A 200 257.0 -257.0
431 437 4vyDN= +A 790 528.0 -528.0| 421 453 3¢ V-3 &7 150 192.0 -192.0
634 628 4vDN= *A 790 528.0 -528.0( 431 437 3¢ O-3 A 150 192.0 -192.0
659 648 4vDS= 43 790 528.0 -528.0 436 456 3¢ O-3 v9 150 192.0 -192.0
521 549 3vyDN= *A 730 485.0 -485.0 | 446 428 3¢ O-3 &K 150 192.0 -192.0
429 445 4y N= *A 620 417.0 -417.0( 448 426 3¢ O-3 &K 150 192.0 -192.0
435 457 4y N= ¢A 620 417.0 -417.0 452 422 3¢ O-3 A 150 192.0 -192.0
534 530 4v N= *A 620 417.0 -417.0| 546 524 3¢ O-3 LY 150 192.0 -192.0
624 644 4v N= *A 620 417.0 -417.0 548 522 3¢ O-3 A 150 192.0 -192.0
434 458 5¢DO -2 a7 500 338.0 -338.0( 552 557 4¢ V-3 *7 150 192.0 -192.0
424 450 3N O-3 v3 300 185.0 -185.0 | 423 451 2v N= a2 110 143.0 -143.0
647 621 24 V-3 v2 300 185.0 -185.0( 435 457 2v S= va 110 143.0 -143.0
556 553 5¢DO-1 a7 200 99.0 -99.0| 525 545 2y S= *Q 110 143.0 -143.0
625 637 3NO-2 v3 200 99.0 -99.0| 535 529 2v N= aA 110 143.0 -143.0
657 650 3v N +2 *A 200 99.0 -99.0| 622 646 2v S= *Q 110 143.0 -143.0
528 536 3v N+1 ] 170 68.0 -68.0| 633 629 2v S= &K 110 143.0 -143.0
555 554 3v S+1 &3 170 68.0 -68.0| 647 621 2v S= *0Q 110 143.0 -143.0
630 632 3v N+1 *A 170 68.0 -68.0| 651 656 2v N= aA 110 143.0 -143.0
645 623 3v N +1 aJ 170 68.0 -68.0| 429 445 3¢ O-2 v9 100 134.0 -134.0
658 649 3v N +1 + K 170 68.0 -68.0| 527 537 3¢ V-2 vK 100 134.0 -134.0
430 444 3y N= »3 140 36.0 -36.0| 556 553 3¢ O-2 &K 100 134.0 -134.0
446 428 3v S= +Q 140 36.0 -36.0| 634 628 3¢ O-2 v9 100 134.0 -134.0
560 532 3v N= +A 140 36.0 -36.0| 658 649 3¢ O-2 &K 100 134.0 -134.0
622 646 3v N= *A 140 36.0 -36.0| 425 449 2v S-1 *Q -50 -35.0 35.0
654 653 3v N= ¢ A 140 36.0 -36.0| 521 549 2y N-1 s A -50 -35.0 35.0
421 453 44 O-1 a7 100 0.0 0.0| 523 547 2vS-1 aA -50 -35.0 35.0
525 545 5¢ O-1 vA 100 0.0 0.0| 555 554 3vS-1 »3 -50 -35.0 35.0
531 533 2NO-1 v3 100 0.0 0.0| 559 550 2v N-1 s A -50 -35.0 35.0
548 522 4v N-1 *A -100 -161.0 161.0| 625 637 3v N-1 aA -50 -35.0 35.0
633 629 4v N-1 s A -100 -161.0 161.0| 626 636 2v N-1 s A -50 -35.0 35.0
423 451 3¢ O= a7 -110 -172.0 172.0| 645 623 2v S-1 +J -50 -35.0 35.0
523 547 3¢ V= aA -110 -172.0 172.0| 657 650 2y N-1 aA -50 -35.0 35.0
427 447 4¢ O= a7 -130 -198.0 198.0| 659 648 3v N-1 s A -50 -35.0 35.0
455 454 4¢ V= s A -130 -198.0 198.0| 434 458 3y N-2 s A -100 -101.0 101.0
546 524 4¢ O= a7 -130 -198.0 198.0| 560 532 2¢vyDS-1 *0Q -100 -101.0 101.0
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651 656 4¢ O= &K -130 -198.0 198.0 627 635 3v N-2 *4 -100 -101.0 101.0
526 544 4¢ O+1 vA -150 -211.0 211.0| 630 632 3v N-2 s A -100 -101.0 101.0
527 537 4¢ O+1 vA -150 -211.0 211.0| 655 652 34 S-2 a2 -100 -101.0 101.0
559 550 5vDN-1 ¢ A -200 -256.0 256.0| 660 631 3v N-2 a A -100 -101.0 101.0
433 459 5¢ O= vA -600 -516.0 516.0| 455 454 3NS-4 *J -200 -208.0 208.0
436 456 5¢ O= vA -600 -516.0 516.0| 433 459 3vyDN-2 s A -300 -309.0 309.0
448 426 5¢ O= vA -600 -516.0 516.0| 534 530 24DS-2 *J -300 -309.0 309.0
535 529 5¢ O= vA -600 -516.0 516.0| 424 450 3NV = v2 -400 -401.0 401.0
552 557 5¢ O= vA -600 -516.0 516.0| 460 432 3NV= v7 -400 -401.0 401.0
655 652 5¢ O= vA -600 -516.0 516.0| 526 544 3NV +1 v2 -430 -426.0 426.0
425 449 5¢DO= vA -750 -597.0 597.0| 427 447 44DS-3 *J -500 -481.0 481.0
452 422 5¢DO= vA -750 -597.0 597.0| 430 444 44DS-3 +J -500 -481.0 481.0
626 636 5¢DO= vA -750 -597.0 597.0| 624 644 4vyDN-3 a A -500 -481.0 481.0
- 551 60.6 - 551 60.6
25 4« Kn96 Basta kontrakt 26 4 Kn108732 Basta kontrakt
Nord v KD5 54 N =450 Ost v D106 34 S =140
oV + EK10986 Alla ¢+ E63
&E & ¢ v & NT &K & ¢ v &N
452 & KD3 N 8 106 1110 495 & D4 N5 98 95
v7642 vEKNn983 S 8 106 118 v K43 v EKn8 S5988965
¢DKNn5 ¢2 0416 22 ¢ Kn87 #1095 083533
#Kn986 #10752 V51623 #D9732 #EKNn864 V8 3533
«E10874 « EK6
v10 v 9752
¢ 743 ¢ KD42
&KD43 105
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
630 644 3NN +3 vT 490 162.0 -162.0 | 424 452 44 N= *T 620 363.0 -363.0
654 659 3NN +3 v3 490 162.0 -162.0| 425 451 44 N= *T 620 363.0 -363.0
430 446 44 N +2 *2 480 156.0 -156.0 | 524 548 4e N= &A 620 363.0 -363.0
528 544 44 N+2 *2 480 156.0 -156.0| 536 530 44 N= +5 620 363.0 -363.0
527 545 3NN +2 &2 460 121.0 -121.0| 556 555 44 N= +5 620 363.0 -363.0
621 653 3NN +2 &5 460 121.0 -121.0| 557 554 44 N= &A 620 363.0 -363.0
623 651 3NN +2 v8 460 121.0 -121.0| 560 533 44 N= *T 620 363.0 -363.0
422 454 54 N = vA 450 120.0 -120.0| 621 653 44 N= +5 620 363.0 -363.0
424 452 46 S+1 v7 450 120.0 -120.0| 622 652 44 N= *T 620 363.0 -363.0
437 456 4e S+1 v7 450 120.0 -120.0| 623 651 44 N= *T 620 363.0 -363.0
449 427 44 S+1 v4 450 120.0 -120.0 | 627 647 44 N= *T 620 363.0 -363.0
522 550 4e S+1 v4 450 120.0 -120.0| 630 644 44 N= *T 620 363.0 -363.0
526 546 44 N+1 *2 450 120.0 -120.0| 637 631 44 N= &A 620 363.0 -363.0
532 534 44 N+1 &4 450 120.0 -120.0| 657 656 44 N= *T 620 363.0 -363.0
556 555 44 S+1 v4 450 120.0 -120.0| 660 634 44 N= *T 620 363.0 -363.0
625 649 54 S= v4 450 120.0 -120.0| 529 537 INS+4 &2 210 -49.0 49.0
627 647 44 N+1 vA 450 120.0 -120.0 | 421 455 34 N+1 T 170 -96.0 96.0
633 635 54 S= va 450 120.0 -120.0 | 428 448 34 N+1 &A 170 -96.0 96.0
650 624 44 N+1 &5 450 120.0 -120.0 | 430 446 24 N+2 +9 170 -96.0 96.0
657 656 44 S+1 v4 450 120.0 -120.0 | 431 445 34 N+1 *T 170 -96.0 96.0
521 551 5¢ N+2 v5 440 96.0 -96.0 | 432 444 34 N+1 *T 170 -96.0 96.0
425 451 3NN +1 v3 430 72.0 -72.0| 434 459 34 N+1 *T 170 -96.0 96.0
432 444 3NN +1 v2 430 72.0 -72.0| 436 457 34 N+1 &A 170 -96.0 96.0
435 458 3NN +1 v3 430 72.0 -72.0 | 447 429 24 N+2 &A 170 -96.0 96.0
560 533 3N N+1 v9 430 72.0 -72.0| 460 433 24 N+2 &A 170 -96.0 96.0
636 632 3NN +1 v9 430 72.0 -72.0| 521 551 24 N+2 +5 170 -96.0 96.0
648 626 3NN +1 &5 430 72.0 -72.0| 526 546 24 N +2 +5 170 -96.0 96.0
421 455 44 N= *2 420 71.0 -71.0| 527 545 34 N+1 &A 170 -96.0 96.0
428 448 44 S= v7 420 71.0 -71.0| 528 544 34 N+1 T 170 -96.0 96.0
431 445 46 S= va 420 71.0 -71.0| 549 523 24 N+2 +5 170 -96.0 96.0
434 459 4e S= v4 420 71.0 -71.0| 559 552 34 N+1 &A 170 -96.0 96.0
447 429 46 S= +Q 420 71.0 -71.0| 625 649 34 N+1 &A 170 -96.0 96.0
524 548 46 S= va 420 71.0 -71.0| 628 646 24 N +2 +5 170 -96.0 96.0
536 530 44 S= v4 420 71.0 -71.0| 629 645 34 N+1 &A 170 -96.0 96.0
547 525 44 S= v9 420 71.0 -71.0| 633 635 34 N+1 +5 170 -96.0 96.0
622 652 44 N= *2 420 71.0 -71.0| 636 632 24 N+2 *T 170 -96.0 96.0
426 450 5¢ N= a3 400 33.0 -33.0( 654 659 24 N+2 *T 170 -96.0 96.0
453 423 5¢ N= vA 400 33.0 -33.0| 648 626 2¢ N+3 T 150 -129.0 129.0
535 531 3NN= v3 400 33.0 -33.0( 658 655 3¢ S+2 &2 150 -129.0 129.0
549 523 5¢ N= & K 400 33.0 -33.0( 422 454 24 S+1 *T 140 -131.0 131.0
559 552 5¢ N= vA 400 33.0 -33.0| 453 423 34 N= *T 140 -131.0 131.0
436 457 5¢ N-1 &K -50 -428.0 428.0| 522 550 34 N= *T 140 -131.0 131.0
460 433 6¢ N-1 & K -50 -428.0 428.0| 535 531 34 N= &A 140 -131.0 131.0
529 537 64 S-1 v4 -50 -428.0 428.0| 435 458 44 N-1 *T -100 -368.0 368.0
557 554 3NS-1 va -50 -428.0 428.0| 449 427 44 N-1 &A -100 -368.0 368.0
628 646 44 S-1 v4 -50 -428.0 428.0 547 525 44 N-1 +3 -100 -368.0 368.0
629 645 5¢ N-1 aA -50 -428.0 428.0 | 437 456 1& Q+2 &5 -110 -371.0 371.0
658 655 3NN-1 v9 -50 -428.0 4280 650 624 34 0= s A -110 -371.0 371.0
660 634 6¢ N-1 *2 -50 -428.0 428.0| 426 450 1INO+1 v2 -120 -376.0 376.0
637 631 64 S-2 &6 -100 -467.0 467.0| 532 534 INV+1 v4 -120 -376.0 376.0
553 - 53.5 553 - 53.5

Svenska Bridgeforbundet, Silver 1 IAF 2019-07-26, sida 11 av 17




27  EK106 Basta kontrakt 28 4 D763 Basta kontrakt
Syd v2 2NT VD -1 100 Vast v E9853 44 O D -2 300
Ingen ¢+ ED65 NS ¢ Kn3
#ED96 & ¢ v & NT &Kn7 & ¢ v & NT
4754  «DKn2 N7 7686 4 K5 # EKn10942 N689 509
vEK5 v DKn843 S776 86 v74 v DKn10 S$68 959
¢ K973 ¢Kn8 055757 ¢ 64 + D98 06 3 38 4
K87 #Kn43 V66757 #E965432 #10 V63374
4983 8
v 10976 v K62
¢ 1042 ¢ EK10752
#1052 +KD8
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
653 658 24 S+1 vA 140 242.0 -242.0| 533 535 44DV -4 +J 800 518.0 -518.0
548 526 14 N+1 v3 110 199.0 -199.0| 429 449 3NDS= *7 750 482.0 -482.0
557 556 24 S= vK 110 199.0 -199.0( 628 644 3N S +2 v7 660 424.0 -424.0
621 651 24 S= vK 110 199.0 -199.0| 444 456 3NS+1 »5 630 396.0 -396.0
626 646 2# S +1 vA 110 199.0 -199.0| 621 651 3NS+1 *6 630 396.0 -396.0
632 634 1a S+1 vK 110 199.0 -199.0| 636 630 3NS+1 *2 630 396.0 -396.0
429 449 2v O-2 *T 100 195.0 -195.0| 450 428 4y N= &T 620 389.0 -389.0
522 552 3vDO-1 8 100 195.0 -195.0| 550 524 4v N= s A 620 389.0 -389.0
533 535 2¢vyDO-1 T 100 195.0 -195.0( 629 637 4v N= s A 620 389.0 -389.0
628 644 3v V-2 & A 100 195.0 -195.0| 525 549 3NS= *4 600 372.0 -372.0
635 631 3v O-2 3 100 195.0 -195.0| 528 546 3NS= *4 600 372.0 -372.0
647 625 2vDO-1 3 100 195.0 -195.0( 537 531 3NN= a9 600 372.0 -372.0
450 428 INN= vT 90 177.0 -177.0| 622 650 3NN-= a] 600 372.0 -372.0
554 559 2& S= vA 90 177.0 -177.0| 627 645 3NS= v7 600 372.0 -372.0
422 421 1a N= vQ 80 168.0 -168.0| 653 658 3NS= »2 600 372.0 -372.0
448 430 2v O-1 48 50 127.0 -127.0| 432 446 44DO-2 ¢A 300 116.0 -116.0
460 434 2v V-1 s A 50 127.0 -127.0| 530 544 44DO-2 *A 300 116.0 -116.0
523 551 3v O-1 a2 50 127.0 -127.0( 436 458 3# V-3 *J 150 -34.0 34.0
622 650 2v O-1 28 50 127.0 -127.0| 632 634 44 O-3 ¢ A 150 -34.0 34.0
656 655 2v O-1 *2 50 127.0 -127.0| 427 451 34 S+1 &K 130 -56.0 56.0
657 654 3v O-1 ] 50 127.0 -127.0| 521 553 34 S+1 *A 130 -56.0 56.0
431 447 34 S-1 vA -50 14.0 -14.0| 522 552 4¢ S= *A 130 -56.0 56.0
432 446 34 N-1 vA -50 14.0 -140| 557 556 3¢ S+1 A 130 -56.0 56.0
433 445 34 S-1 vA -50 14.0 -14.0| 626 646 3¢ S+1 *A 130 -56.0 56.0
659 652 2#S-1 vA -50 14.0 -14.0| 657 654 3¢ S+1 s K 130 -56.0 56.0
454 424 INV = 46 -90 -43.0 43.0| 422 421 3¢ S= v7 110 -86.0 86.0
649 623 INV= 46 -90 -43.0 43.0| 554 559 34 S= A 110 -86.0 86.0
425 453 44 S-2 vK -100 -52.0 52.0| 423 455 34 O-2 ¢ A 100 -94.0 94.0
426 452 34 S-2 vA -100 -52.0 52.0| 431 447 44 O-2 +K 100 -94.0 94.0
521 553 2NN -2 2 Q -100 -52.0 52.0| 433 445 3aV-2 *J 100 -94.0 94.0
525 549 24 S-2 vA -100 -52.0 52.0| 529 545 44 O-2 ¢A 100 -94.0 94.0
627 645 3¢ N-2 vQ -100 -52.0 52.0| 624 648 34 O-2 *A 100 -94.0 94.0
629 637 34 S-2 vA -100 -52.0 52.0| 649 623 34 O-2 + K 100 -94.0 94.0
660 633 24 S-2 vA -100 -52.0 52.0| 527 547 34 0-1 +K 50 -142.0 142.0
437 457 2v O = v6 -110 -65.0 65.0| 647 625 24 O-1 +K 50 -142.0 142.0
537 531 2v O= 3 -110 -65.0 65.0( 656 655 34 O-1 *A 50 -142.0 142.0
529 545 1INV +1 & A -120 -86.0 86.0| 425 453 4v N-1 &T -100 -279.0 279.0
550 524 INO+1 2 -120 -86.0 86.0| 435 459 4v N-1 &T -100 -279.0 279.0
527 547 34 S-3 vA -150 -116.0 116.0| 437 457 4v N-1 s A -100 -279.0 279.0
536 532 5#S-3 vA -150 -116.0 116.0| 454 424 4y N-1 & A -100 -279.0 279.0
624 648 34 S-3 Ly -150 -116.0 116.0| 460 434 4v N-1 &T -100 -279.0 279.0
636 630 34 S-3 vA -150 -116.0 116.0| 560 534 4v N-1 &T -100 -279.0 279.0
435 459 INDV = & A -180 -155.0 155.0| 635 631 5v N-1 vQ -100 -279.0 279.0
444 456 INDV = v2 -180 -155.0 155.0| 659 652 4v N-1 *3 -100 -279.0 279.0
528 546 INDV = s A -180 -155.0 155.0| 660 633 4y N-1 *9 -100 -279.0 279.0
423 455 44 S-4 vA -200 -175.0 175.0| 426 452 4y N-2 &T -200 -374.0 374.0
436 458 INDV +2 s A -380 -361.0 361.0( 448 430 4¢ S-2 oK -200 -374.0 374.0
530 544 2NDN -3 LN -500 -459.0 459.0( 548 526 5¢ S-2 & K -200 -374.0 374.0
560 534 3NDN-3 v3 -500 -459.0 459.0| 536 532 4y N-3 & A -300 -460.0 460.0
427 451 44DS -4 vA -800 -612.0 612.0 523 551 5¢DS-2 *A -500 -584.0 584.0
- 555 -4.3 - 555 -4.3
29 482 Bésta kontrakt 30 « K63 Bésta kontrakt
Nord v 8643 6NT O =-1440 Ost v 864 64 O =-980
Alla + K9873 Ingen + 10653
#86 & ¢ v & NT #K105 & ¢ v & NT
«E1095 4 KD643 N17611 4 D972 4 EKN10 N16111
vE9 vD10 S17611 vKD97 vEKn1032 S16111
¢ 102 ¢+ ED4 O 126 7 1212 +Kn2 ¢E O 117 121211
#KDKNn73 #542 V 116 6 118 #E97  #DKn86 vV 117 121211
«Kn7 » 854
v KKn752 v5
¢ Kn65 + KD9874
*E109 #432
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
424 421 44 O+1 v2 -650 132.0 -132.0| 433 447 64 V-1 +5 50 598.0 -598.0
629 649 44 O+1 A -650 132.0 -132.0| 522 554 7y O-1 +K 50 598.0 -598.0
423 422 44 O +2 *9 -680 89.0 -89.0( 529 547 3NO-1 +K 50 598.0 -598.0
426 454 44 O +2 +5 -680 89.0 -89.0( 531 545 4v O+1 +K -450 283.0 -283.0
427 453 44 O +2 ] -680 89.0 -89.0( 427 453 4v O+2 +K -480 263.0 -263.0
428 452 44 O +2 ] -680 89.0 -89.0( 428 452 4v O+2 ¢+ K -480 263.0 -263.0
430 450 44 O +2 a7 -680 89.0 -89.0( 434 446 4v O+2 +K -480 263.0 -263.0
432 448 44 O +2 ] -680 89.0 -89.0( 436 459 4v O+2 +K -480 263.0 -263.0
433 447 44 O +2 +5 -680 89.0 -89.0 445 456 4v O+2 ¢+ K -480 263.0 -263.0
436 459 44 O +2 a7 -680 89.0 -89.0( 451 429 4v V +2 v6 -480 263.0 -263.0
437 458 44 O +2 +5 -680 89.0 -89.0 526 550 4v O+2 +K -480 263.0 -263.0
444 457 44 O +2 v7 -680 89.0 -89.0| 528 548 4v O+2 ¢+ K -480 263.0 -263.0
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445 456 44 O +2 +5 -680 89.0 -89.0| 544 532 5v O+1 ¢+ K -480 263.0 -263.0
449 431 44 O +2 +5 -680 89.0 -89.0( 551 525 4v O+2 + K -480 263.0 -263.0
451 429 44 O +2 a7 -680 89.0 -89.0| 555 521 5v V+1 +K -480 263.0 -263.0
455 425 44 O +2 a] -680 89.0 -89.0| 560 535 4y O+2 ¢+ K -480 263.0 -263.0
460 435 44 O +2 a] -680 89.0 -89.0( 627 651 4v O+2 + K -480 263.0 -263.0
522 554 44 O +2 s] -680 89.0 -89.0| 630 648 4v V+2 +K -480 263.0 -263.0
524 552 44 O +2 +5 -680 89.0 -89.0| 644 634 4y O+2 ¢+ K -480 263.0 -263.0
526 550 44 O +2 a] -680 89.0 -89.0( 650 628 4v O +2 v5 -480 263.0 -263.0
528 548 44 O +2 +3 -680 89.0 -89.0| 652 626 4v V+2 v6 -480 263.0 -263.0
529 547 44 O +2 +5 -680 89.0 -89.0| 656 622 4y O+2 &2 -480 263.0 -263.0
530 546 44 O +2 v2 -680 89.0 -89.0( 659 658 5v O+1 + K -480 263.0 -263.0
534 536 44 O +2 +5 -680 89.0 -89.0 423 422 6v O= +K -980 -262.0 262.0
537 533 44 O +2 +5 -680 89.0 -89.0| 424 421 6v V= &5 -980 -262.0 262.0
544 532 44 O +2 v7 -680 89.0 -89.0( 426 454 6v O= + K -980 -262.0 262.0
549 527 44 O +2 v2 -680 89.0 -89.0| 430 450 6v O= +K -980 -262.0 262.0
551 525 44 O +2 v7 -680 89.0 -89.0| 432 448 6y O= ¢+ K -980 -262.0 262.0
560 535 4e O +2 +5 -680 89.0 -89.0( 437 458 6v O= + K -980 -262.0 262.0
621 657 44 O +2 *4 -680 89.0 -89.0| 444 457 6v O= +K -980 -262.0 262.0
623 655 44 O +2 +5 -680 89.0 -89.0| 449 431 6v O= ¢+ K -980 -262.0 262.0
624 654 44 O +2 +5 -680 89.0 -89.0( 455 425 6v O= + K -980 -262.0 262.0
625 653 44 O +2 &9 -680 89.0 -89.0| 460 435 6v O= +K -980 -262.0 262.0
627 651 44 O +2 a7 -680 89.0 -89.0| 523 553 6y O= ¢+ K -980 -262.0 262.0
630 648 44 O +2 SA -680 89.0 -89.0( 524 552 6v O= + K -980 -262.0 262.0
631 647 44 O +2 v2 -680 89.0 -89.0| 530 546 6v O= +K -980 -262.0 262.0
632 646 44 O +2 +5 -680 89.0 -89.0( 534 536 6v O= ¢+ K -980 -262.0 262.0
635 637 54 O+1 a7 -680 89.0 -89.0 537 533 6v V= v4 -980 -262.0 262.0
645 633 44 O +2 v2 -680 89.0 -89.0| 549 527 6v O= +K -980 -262.0 262.0
650 628 44 O +2 +5 -680 89.0 -89.0| 559 556 6Y O= ¢+ K -980 -262.0 262.0
652 626 44 O +2 v5 -680 89.0 -89.0( 621 657 6v O= + K -980 -262.0 262.0
656 622 44 O +2 +5 -680 89.0 -89.0| 623 655 6v O= +K -980 -262.0 262.0
660 636 44 O +2 &9 -680 89.0 -89.0| 624 654 6y O= v5 -980 -262.0 262.0
434 446 64 O= +5 -1430 -559.0 559.0( 625 653 6v O= + K -980 -262.0 262.0
523 553 64 O= &A -1430 -559.0 5569.0 629 649 6v O= +K -980 -262.0 262.0
531 545 64 O= vJ -1430 -559.0 559.0 631 647 6y O= ¢+ K -980 -262.0 262.0
555 521 64 O= +3 -1430 -559.0 559.0( 632 646 6v O= + K -980 -262.0 262.0
559 556 64 O= a7 -1430 -559.0 5569.0 635 637 6v O= +K -980 -262.0 262.0
644 634 64 O= &9 -1430 -559.0 559.0 645 633 6y O= ¢+ K -980 -262.0 262.0
659 658 64 O= v3 -1430 -559.0 559.0| 660 636 6v O= &2 -980 -262.0 262.0
- 557 -7.5 - bbh7 -7.5
31 & KDKn6 Basta kontrakt 32 a2 Basta kontrakt
Syd v- 6v VD -51100 Vast v Kn10962 5# V =-600
NS + KD9632 oV + 10764
#1082 & ¢ v & NT &754 & ¢ v &N
& E9753 & 842 N 10126 7 10 4Knl1098 43 N14374
v EK10842 v 753 S 11126 7 10 v K54 v D873 S14374
+10 +75 0217653 + ED52 + K8 O 119 9 6 9
&5 &D9643 V21743 108 &EKDKN92 V 119 9 6 9
«10 « EKD7654
v DKn96 vYE
¢+ EKn84 + Kn93
&EKKNn7 63
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
445 457 64D S= A 1540 596.0 -596.0( 446 456 5v O-3 & K 300 627.0 -627.0
428 454 64 S= vA 1370 498.0 -498.0( 560 536 4v O-3 s A 300 627.0 -627.0
444 458 64 S= vA 1370 498.0 -498.0 | 434 448 44 S-2 a] -100 412.0 -412.0
446 456 6¢ N= &4 1370 498.0 -498.0| 624 652 34 S-2 &T -100 412.0 -412.0
531 547 6¢ N= v3 1370 498.0 -498.0 ( 435 447 44 S-3 &T -150 364.0 -364.0
552 526 6¢ N= v3 1370 498.0 -498.0 | 521 557 3& O +2 a A -150 364.0 -364.0
644 632 6¢ S= A 1370 498.0 -498.0| 524 554 44 S-3 a] -150 364.0 -364.0
658 657 64 S= vA 1370 498.0 -498.0 | 425 422 34DN-2 &T -300 222.0 -222.0
421 426 6vyDV -5 & K 1100 319.0 -319.0| 628 648 3NDS -2 a] -300 222.0 -222.0
434 448 6vyDV -5 +9 1100 319.0 -319.0| 637 633 34DS-2 *0Q -300 222.0 -222.0
556 522 6vyDV-5 +K 1100 319.0 -319.0 | 424 423 44D S-3 a] -500 9.0 -9.0
637 633 6vyDV-5 ¢+ K 1100 319.0 -319.0 | 428 454 44D S-3 v4 -500 9.0 -9.0
659 656 6vDV-5 +K 1100 319.0 -319.0| 429 453 44DS-3 &8 -500 9.0 -9.0
433 449 5¢DN +1 &6 950 203.0 -203.0| 433 449 44DS-3 a] -500 9.0 -9.0
523 555 6vyDV-4 & K 800 67.0 -67.0| 445 457 44D S-3 a] -500 9.0 -9.0
529 549 5vDV-4 +K 800 67.0 -67.0( 450 432 44DS-3 v4 -500 9.0 -9.0
532 546 5vDV -4 &K 800 67.0 -67.0 452 430 44D S-3 &T -500 9.0 -9.0
623 653 5vDV-4 & K 800 67.0 -67.0( 460 436 44D S-3 &T -500 9.0 -9.0
628 648 5vyDV -4 K 800 67.0 -67.0( 527 551 44DS-3 &T -500 9.0 -9.0
660 635 44DV -4 +K 800 67.0 -67.0( 529 549 44D S-3 a] -500 9.0 -9.0
525 553 3NS+3 v4 690 -45.0 450| 530 548 44D S-3 v2 -500 9.0 -9.0
521 557 3NN +2 v3 660 -83.0 83.0| 531 547 44DS-3 &T -500 9.0 -9.0
655 621 3NN +2 a2 660 -83.0 83.0| 532 546 44DN-3 &A -500 9.0 -9.0
545 533 5¢ S+2 vA 640 -94.0 940| 552 526 4e4DS-3 &5 -500 9.0 -9.0
429 453 3N S+1 vK 630 -112.0 112.0| 556 522 44DS-3 a] -500 9.0 -9.0
437 459 3N S+1 vA 630 -112.0 112.0( 626 650 44D S -3 &T -500 9.0 -9.0
649 627 3NN +1 v3 630 -112.0 112.0( 649 627 44D S-3 LY:] -500 9.0 -9.0
651 625 3NN +1 v3 630 -112.0 1120 651 625 44DS-3 &T -500 9.0 -9.0
424 423 5¢ N+1 a2 620 -126.0 126.0( 658 657 44D S-3 &T -500 9.0 -9.0
427 455 5¢ S+1 vA 620 -126.0 126.0| 660 635 44DS-3 v2 -500 9.0 -9.0
435 447 5¢ S+1 vA 620 -126.0 126.0| 427 455 5# 0 = vA -600 -122.0 122.0
452 430 5¢ S+1 vA 620 -126.0 126.0| 431 451 54 0= vA -600 -122.0 122.0
460 436 5¢ S+1 &5 620 -126.0 126.0| 444 458 5& 0O = a A -600 -122.0 122.0
524 554 5¢ S+1 vA 620 -126.0 126.0| 525 553 5& O = oK -600 -122.0 122.0
530 548 5¢ N+1 v3 620 -126.0 126.0( 550 528 3NV= *4 -600 -122.0 122.0
550 528 5¢ S+1 vK 620 -126.0 126.0| 622 654 3NV= vJ -600 -122.0 122.0
560 536 5¢ S+1 vA 620 -126.0 126.0| 629 647 5% O = A -600 -122.0 122.0
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622 654 5¢ N+1 620 -126.0 126.0( 630 646 5& O= a A -600 -122.0 122.0
629 647 5¢ N+1 620 -126.0 126.0| 631 645 3NV= vJ -600 -122.0 122.0
425 422 4vDV -3 500 -236.0 236.0| 634 636 5# 0= s A -600 -122.0 122.0
431 451 4vyDV - 500 -236.0 236.0| 659 656 5# 0= aA -600 -122.0 122.0
535 537 14D 500 -236.0 236.0| 545 533 3NV +1 a3 -630 -162.0 162.0
544 534 4vD 500 -236.0 236.0| 623 653 3NV+1 a2 -630 -162.0 162.0
630 646 4vD 500 -236.0 236.0| 421 426 54D O = & K -750 -276.0 276.0
634 636 4vD 500 -236.0 236.0| 437 459 54D O= s A -750 -276.0 276.0
527 551 3vD 300 -411.0 411.0( 544 534 3NDV= vJ -750 -276.0 276.0
624 652 34D 100 -534.0 534.0| 644 632 54D O= vA -750 -276.0 276.0
626 650 24DV-1 100 -534.0 534.0| 535 537 54DS-4 &T -800 -328.0 328.0
450 432 7¢ N-1 -100 -624.0 624.0| 523 555 3NDV +1 a2 -950 -459.0 459.0
631 645 7¢ N-1 -100 -624.0 624.0| 655 621 3ND O +1 a A -950 -459.0 459.0
559 - 2.9 559 - 2.9
33 Basta kontrakt 34 465 Basta kontrakt
Nord 5v N =450 Ost v 10986 3NT O =-400
Ingen NS + KD10
& ¢ v &N &E754 & ¢ v &N
4973 N 6 5 11109 4 K1082 & EKn9 N5 45 4 4
v82 S 6 5 11109 v 542 v KDKn S545 44
¢ EKn98652 +¢ 1074 078222 + 843 ¢+ E762 O7 97929
&4 V78222 &#K109 #Kn62 V797299
« D743
vE73
+ Kn95
D83
Par Kontr Res Poang Par Kontr Ut Res Poang
532 548 5¢DV-3 500 206.0 -206.0( 432 452 INO= LY -90 88.0 -88.0
432 452 4w 480 177.0 -177.0( 658 624 INO= 46 -90 88.0 -88.0
434 450 4e 480 177.0 -177.0 | 422 427 INO+1 46 -120 39.0 -39.0
444 459 4w 480 177.0 -177.0 428 421 INO+1 L Y] -120 39.0 -39.0
521 559 4% 480 177.0 -177.0( 429 455 INO+1 &Q -120 39.0 -39.0
622 621 5v 480 177.0 -177.0( 444 459 INO+1 a3 -120 39.0 -39.0
632 650 4y S+2 480 177.0 -177.0( 447 456 INO+1 a5 -120 39.0 -39.0
422 427 5v S= 450 139.0 -139.0( 536 544 INO+1 a2 -120 39.0 -39.0
425 424 5v S= 450 139.0 -139.0( 546 534 INO+1 LY -120 39.0 -39.0
430 454 5v S= 450 139.0 -139.0( 557 523 INO+1 +5 -120 39.0 -39.0
445 458 5v S= 450 139.0 -139.0( 623 659 INO+1 v3 -120 39.0 -39.0
460 437 5v S= 450 139.0 -139.0( 627 655 INO+1 +5 -120 39.0 -39.0
524 556 5v S= 450 139.0 -139.0( 631 651 INO+1 a3 -120 39.0 -39.0
526 554 5v S= 450 139.0 -139.0( 652 630 INO+1 a3 -120 39.0 -39.0
530 550 4v S+1 450 139.0 -139.0( 654 628 INO+1 LY -120 39.0 -39.0
531 549 5v S= 450 139.0 -139.0( 660 644 INO +1 +5 -120 39.0 -39.0
533 547 5v N= 450 139.0 -139.0( 425 424 INO+2 a4 -150 -11.0 11.0
536 544 44 N+1 450 139.0 -139.0( 426 423 INO+2 a3 -150 -11.0 11.0
545 535 54 N= 450 139.0 -139.0( 430 454 2NO+1 LY -150 -11.0 11.0
546 534 4v S+1 450 139.0 -139.0( 433 451 INO+2 a4 -150 -11.0 11.0
551 529 4y S+1 450 139.0 -139.0( 434 450 INO+2 a3 -150 -11.0 11.0
553 527 4v S+1 450 139.0 -139.0( 435 449 1INO+2 LY -150 -11.0 11.0
557 523 5v S= 450 139.0 -139.0( 436 448 INO+2 a3 -150 -11.0 11.0
626 656 5v S= 450 139.0 -139.0( 445 458 1INO+2 a3 -150 -11.0 11.0
631 651 4y S+1 450 139.0 -139.0( 446 457 INO+2 a3 -150 -11.0 11.0
633 649 5v S= 450 139.0 -139.0( 453 431 INO+2 a3 -150 -11.0 11.0
646 636 5v S= 450 139.0 -139.0( 460 437 INO+2 a3 -150 -11.0 11.0
647 635 5v S= 450 139.0 -139.0( 521 559 INO +2 a5 -150 -11.0 11.0
660 644 5y S= 450 139.0 -139.0( 524 556 INO +2 a3 -150 -11.0 11.0
426 423 44 N= 420 90.0 -90.0| 525 555 INO +2 LY -150 -11.0 11.0
429 455 44 N= 420 90.0 -90.0| 526 554 INO +2 LY -150 -11.0 11.0
453 431 44 N= 420 90.0 -90.0| 528 552 INO +2 a4 -150 -11.0 11.0
525 555 44 N= 420 90.0 -90.0| 530 550 INO +2 LY -150 -11.0 11.0
560 537 44 N= 420 90.0 -90.0| 531 549 INO+2 LY -150 -11.0 11.0
627 655 44 N= 420 90.0 -90.0| 532 548 INO+2 a4 -150 -11.0 11.0
637 645 44 N= 420 90.0 -90.0| 533 547 INO+2 LY -150 -11.0 11.0
433 451 34D O - 300 -48.0 48.0| 545 535 INO +2 a3 -150 -11.0 11.0
435 449 34D O - 300 -48.0 48.0| 553 527 INO+2 a4 -150 -11.0 11.0
428 421 54 N-1 -50 -405.0 405.0( 560 537 INO+2 LY -150 -11.0 11.0
436 448 6v S-1 -50 -405.0 405.0 622 621 INO +2 +9 -150 -11.0 11.0
446 457 54 N-1 -50 -405.0 405.0( 626 656 1INO +2 a4 -150 -11.0 11.0
447 456 54 N -1 -50 -405.0 405.0( 629 653 INO+2 LY -150 -11.0 11.0
528 552 54 N-1 -50 -405.0 405.0 632 650 INO +2 LY -150 -11.0 11.0
623 659 54 N-1 -50 -405.0 405.0( 633 649 INO+2 a4 -150 -11.0 11.0
625 657 54 N-1 -50 -405.0 405.0( 634 648 INO+2 LY -150 -11.0 11.0
629 653 64 N-1 -50 -405.0 405.0 637 645 INO +2 LY -150 -11.0 11.0
634 648 6v S-1 -50 -405.0 405.0| 646 636 1NO +2 a4 -150 -11.0 11.0
652 630 54 N-1 -50 -405.0 405.0( 647 635 1INV +2 vT -150 -11.0 11.0
654 628 5v S-1 -50 -405.0 405.0 551 529 INO+3 LY -180 -60.0 60.0
658 624 54 N-1 -50 -405.0 405.0| 625 657 3NO= a4 -400 -310.0 310.0
522 - -74.1 522 - -74.1
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35 49862 Basta kontrakt 36 4 KD32 Basta kontrakt
Syd v KDKn 34 S =110 Vast vK INTV =-2220
(6)) + KKn6 Alla + Kn865
K107 & ¢ v & NT #9832 & ¢ v & NT
4 K1053 4D74 N9 856 7 465 « E94 NO4050
v E87 v 96532 S98567 vDKn109873 vE4 S04060
41093 ¢ D74 04586 6 42 ¢+ E973 O 138 137 13
#854 *ED V45766 #K10 #EKN75 VvV 138 137 13
+ EKn « Kn1087
v 104 v 652
¢ E852 ¢+ KD10
#Kn9632 D64
Par Kontr ut Res Poang Par Kontr ut Res Poang
645 635 INS+3 *T 180 159.0 -159.0 [ 628 652 3v O +2 v5 -200 484.0 -484.0
628 652 1IN S +2 43 150 110.0 -110.0| 630 650 3v O +3 v5 -230 453.0 -453.0
448 456 3# N +1 v5 130 85.0 -85.0| 547 535 3NO+1 + K -630 49.0 -49.0
460 444 3# N +1 v9 130 85.0 -85.0| 426 425 4v V+1 s K -650 3.0 -3.0
423 428 2NN = a5 120 74.0 -74.0 | 427 424 4y O+1 + K -650 3.0 -3.0
427 424 INS+1 43 120 74.0 -74.0| 433 453 4v O+1 + K -650 3.0 -3.0
430 421 INS+1 3 120 74.0 -74.0| 435 451 4v O+1 s K -650 3.0 -3.0
433 453 INS+1 v7 120 74.0 -74.0| 436 450 4v V +1 &K -650 3.0 -3.0
437 449 2N S= a5 120 74.0 -74.0| 445 459 4v V +1 4 K -650 3.0 -3.0
446 458 1NN +1 v2 120 74.0 -74.0| 446 458 4v V +1 4Q -650 3.0 -3.0
522 521 INN+1 v2 120 74.0 -74.0| 448 456 4v V +1 4Q -650 3.0 -3.0
527 555 INS+1 43 120 74.0 -74.0| 452 434 4v V +1 4 K -650 3.0 -3.0
546 536 2N S= *T 120 74.0 -74.0| 460 444 4y O+1 ¢+ K -650 3.0 -3.0
547 535 2NN = v8 120 74.0 -74.0| 523 559 4v V+1 &K -650 3.0 -3.0
554 528 INN +1 v2 120 74.0 -74.0| 525 557 4y V+1 4 K -650 3.0 -3.0
624 656 INN+1 v3 120 74.0 -74.0| 533 549 4v V+1 s K -650 3.0 -3.0
625 655 INS+1 43 120 74.0 -74.0| 546 536 4v V+1 &K -650 3.0 -3.0
633 647 INS+1 43 120 74.0 -74.0| 552 530 4v V+1 4 K -650 3.0 -3.0
646 634 2N S= v7 120 74.0 -74.0| 554 528 4v V+1 s K -650 3.0 -3.0
653 627 INN+1 v2 120 74.0 -74.0| 560 544 4v V +1 &K -650 3.0 -3.0
657 623 2NN= v3 120 74.0 -74.0| 621 659 4v V+1 vJ -650 3.0 -3.0
660 637 INN+1 v3 120 74.0 -74.0| 625 655 4v V+1 ¢+6 -650 3.0 -3.0
431 455 34 S= vA 110 58.0 -58.0| 631 649 4v V+1 &K -650 3.0 -3.0
435 451 3& N-= v6 110 58.0 -58.0| 632 648 4v V+1 4 K -650 3.0 -3.0
436 450 3¢ N= v2 110 58.0 -58.0| 645 635 4v V+1 s K -650 3.0 -3.0
445 459 3¢ S= *T 110 58.0 -58.0| 646 634 4y O+1 + K -650 3.0 -3.0
447 457 34 N= v2 110 58.0 -58.0| 651 629 4v V+1 4 K -650 3.0 -3.0
526 556 3# N-= v5 110 58.0 -58.0| 660 637 4v V+1 &K -650 3.0 -3.0
531 551 2# N +1 v2 110 58.0 -58.0 529 553 3NV +2 a2 -660 2.0 -2.0
532 550 2# N +1 v2 110 58.0 -58.0| 534 548 3NO+2 ] -660 2.0 -2.0
537 545 3&# N= v2 110 58.0 -58.0 | 423 428 4v V +2 *9 -680 -46.0 46.0
552 530 3& N-= v2 110 58.0 -58.0 | 429 422 4v V +2 &K -680 -46.0 46.0
651 629 24 N +1 v3 110 58.0 -58.0| 430 421 4y V+2 4 K -680 -46.0 46.0
560 544 3v O-1 *2 100 36.0 -36.0| 431 455 4v V+2 4Q -680 -46.0 46.0
533 549 INS= *T 90 24.0 -24.0| 437 449 4v V +2 &K -680 -46.0 46.0
636 644 2& S = *T 90 24.0 -24.0| 454 432 4v V +2 4 K -680 -46.0 46.0
426 425 24 S-1 *2 -50 -160.0 160.0| 522 521 4v V+2 &K -680 -46.0 46.0
429 422 3NN-1 v3 -50 -160.0 160.0 | 527 555 4v V +2 4Q -680 -46.0 46.0
452 434 3& N-1 a2 -50 -160.0 160.0| 531 551 4v V+2 4 K -680 -46.0 46.0
454 432 3NN-1 v2 -50 -160.0 160.0| 532 550 4v V+2 s K -680 -46.0 46.0
529 553 3NN-1 v2 -50 -160.0 160.0| 537 545 4y O +2 + K -680 -46.0 46.0
534 548 34 S-1 v3 -50 -160.0 160.0| 622 658 4v V +2 4 K -680 -46.0 46.0
621 659 3# N-1 a4 -50 -160.0 160.0| 624 656 4v V +2 ¢+6 -680 -46.0 46.0
622 658 3NN-1 v5 -50 -160.0 160.0| 633 647 4y O +2 + K -680 -46.0 46.0
626 654 3NN-1 v2 -50 -160.0 160.0| 636 644 4v V+2 4 K -680 -46.0 46.0
630 650 24 N-1 v2 -50 -160.0 160.0| 653 627 4y O +2 ] -680 -46.0 46.0
631 649 3NN-1 v2 -50 -160.0 160.0| 657 623 4y O +2 + K -680 -46.0 46.0
525 557 2NN -2 a4 -100 -223.0 223.0| 526 556 4v V+3 4 K -710 -94.0 94.0
632 648 2v O= s A -110 -235.0 235.0| 626 654 4v V+3 s K -710 -94.0 94.0
523 559 INS- v7 -150 -275.0 275.0| 447 457 3NO +4 + K -720 -95.0 95.0
- 524 79.7 - 524 79.7
37 462 Bésta kontrakt 38 « E43 Bésta kontrakt
Nord v E7543 3NT O =-400 Ost v EKn109 44 O =-620
NS ¢ KDKn97 ov ¢ 105
&3 & ¢ v & NT #Kn982 & ¢ v & NT
«D4  EK93 N36 454 4 Kn10875 & D96 N6 6534
vKKn98 v1062 S36454 v73 v KD854 S66534
¢ E10865 ¢ - O 107 9 8 9 ¢ E97 + K63 06 7 7 108
£Kn6 #EK8542 vV 107 9 8 9 #K75 &ED V 6 7 7 108
« Kn10875 & K2
vD v62
4432 ¢+ DKn842
#D1097 £10643
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
628 658 3NDV -3 + K 500 594.0 -594.0( 555 529 3NO-2 2 200 538.0 -538.0
635 651 3NDV-2 + K 300 457.0 -457.0( 434 454 44 V-1 v2 100 464.0 -464.0
559 525 3NV-3 ¢+ K 150 361.0 -361.0( 631 655 44 O-1 ¢+ Q 100 464.0 -464.0
428 425 3NV -2 + K 100 328.0 -328.0| 635 651 3NO-1 2 100 464.0 -464.0
448 457 3NV -2 +Q 100 328.0 -328.0( 648 644 3NO-1 *2 100 464.0 -464.0
535 549 3NDV-1 46 100 328.0 -328.0( 634 652 2NO= +4 -120 324.0 -324.0
544 546 3NV -2 + K 100 328.0 -328.0| 523 522 INO+2 2 -150 285.0 -285.0
621 626 3NDV-1 + K 100 328.0 -328.0( 544 546 INO+2 *4 -150 285.0 -285.0
633 653 3NV-2 +J 100 328.0 -328.0 ( 424 429 24 O +2 v6 -170 264.0 -264.0
654 632 3NDV-1 + K 100 328.0 -328.0| 427 426 24 O +2 v6 -170 264.0 -264.0
430 423 3NV-1 + K 50 265.0 -265.0 [ 431 422 24 O+2 +*J -170 264.0 -264.0
437 451 3NV-1 ¢+ K 50 265.0 -265.0 | 432 421 24 O+2 v6 -170 264.0 -264.0
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460 445 3NV-1 ¢+ K 50 265.0 -265.0 | 436 452 24 O+2 +Q -170 264.0 -264.0
523 522 3NV-1 + K 50 265.0 -265.0| 460 445 24 V +2 T -170 264.0 -264.0
553 531 3NV-1 *+K 50 265.0 -265.0| 532 552 24 O +2 *+Q -170 264.0 -264.0
555 529 3NO-1 ¢+ K 50 265.0 -265.0 548 536 24 O +2 +Q -170 264.0 -264.0
625 622 3NV-1 + K 50 265.0 -265.0| 633 653 24 O +2 +Q -170 264.0 -264.0
631 655 3NV-1 +K 50 265.0 -265.0| 645 647 24 O +2 v6 -170 264.0 -264.0
636 650 34 V-1 3 50 265.0 -265.0 649 637 24 O+2 +Q -170 264.0 -264.0
645 647 3NV-1 + K 50 265.0 -265.0| 654 632 24 V+2 T -170 264.0 -264.0
649 637 3&# 0= vQ -110 118.0 -118.0| 437 451 3NO= v6 -600 -172.0 172.0
427 426 2NV = ¢+ K -120 93.0 -93.0| 448 457 3NO= +3 -600 -172.0 172.0
560 545 44 O +1 vQ -150 72.0 -72.0| 453 435 3NO= +4 -600 -172.0 172.0
424 429 3NV = + K -400 -192.0 192.0| 528 556 3NO= LY -600 -172.0 172.0
431 422 3NV= +Q -400 -192.0 192.0| 559 525 3NO= 2 -600 -172.0 172.0
436 452 3NV = + K -400 -192.0 192.0| 428 425 44 O= v6 -620 -201.0 201.0
447 458 3NV = + K -400 -192.0 192.0| 444 450 44 V= T -620 -201.0 201.0
528 556 3NV= ¢+ K -400 -192.0 192.0| 446 459 44 O= +J -620 -201.0 201.0
532 552 3NV= + K -400 -192.0 192.0| 447 458 44 V= T -620 -201.0 201.0
533 551 3NV= +K -400 -192.0 192.0| 449 456 44 O= +Q -620 -201.0 201.0
547 537 3NV= ¢+ K -400 -192.0 192.0| 455 433 44 O= ¢+ Q -620 -201.0 201.0
624 623 3NV-= + K -400 -192.0 192.0| 524 521 44 O= +Q -620 -201.0 201.0
627 659 3NV= +K -400 -192.0 192.0| 527 557 44 O= +J -620 -201.0 201.0
629 657 3NV= ¢+ K -400 -192.0 192.0| 533 551 44 O= ¢+ Q -620 -201.0 201.0
634 652 3NV-= + K -400 -192.0 192.0| 534 550 44 O= v6 -620 -201.0 201.0
648 644 3NV = +K -400 -192.0 192.0| 535 549 44 O= +Q -620 -201.0 201.0
660 646 3NV = ¢+ K -400 -192.0 192.0| 547 537 44 V= *T -620 -201.0 201.0
432 421 3NO+1 + K -430 -217.0 217.0| 553 531 44 O= 2 -620 -201.0 201.0
453 435 3NV +1 + K -430 -217.0 217.0| 560 545 44 V= T -620 -201.0 201.0
455 433 3NV +1 *+K -430 -217.0 217.0| 624 623 44 O= v6 -620 -201.0 201.0
524 521 3NV +1 + K -430 -217.0 2170 625 622 44 O= +Q -620 -201.0 201.0
527 557 3NV +1 +Q -430 -217.0 217.0| 627 659 44 O= +Q -620 -201.0 201.0
656 630 3NV +1 ¢+ K -430 -217.0 217.0| 628 658 44 O= v6 -620 -201.0 201.0
530 554 24D O +3 vQ -480 -266.0 266.0 | 629 657 4e V= T -620 -201.0 201.0
534 550 3¢DN-2 &A -500 -293.0 293.0| 636 650 44 O= +Q -620 -201.0 201.0
434 454 3NDV = +J -550 -336.0 336.0 656 630 44 O= ¢+ Q -620 -201.0 201.0
548 536 3NDV = &3 -550 -336.0 336.0| 660 646 4a V= aA -620 -201.0 201.0
444 450 3NDV +1 + K -650 -414.0 414.0| 621 626 3N O +1 v6 -630 -202.0 202.0
449 456 3ND O +2 vQ -750 -484.0 484.0( 530 554 3NDO= &4 -750 -335.0 335.0
446 459 3¢DN-3 aA -800 -522.0 522.0| 430 423 2vRDV +1 T -1240 -637.0 637.0
526 - 32.1 526 - 32.1
39 «109 Bésta kontrakt 40 49 Bésta kontrakt
Syd v 83 44 V D -2 500 Vast vE54 44 V =-420
Alla ¢+ E765 Ingen ¢ KDKn72
#EDKn74 & ¢ v & NT £10872 & ¢ v & NT
4 Kn432 4 KD8765 N 10109 5 8 « EKD7 #Kn854 N56 235
vKn42 vKD S 1010105 8 vKD93 v862 S56 335
+ K93 + Kn108 033385 ¢+E + 10954 077 9 107
#K96 #385 V33385 &#DKn65 #K9 V779 107
+E 10632
v E109765 vKn107
¢ D42 4 863
#1032 &E43
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
433 422 4v S+2 v2 680 427.0 -427.0| 554 532 44 O-3 vJ 150 364.0 -364.0
524 523 4v S+2 v2 680 427.0 -427.0( 431 424 4v V-2 +Q 100 327.0 -327.0
431 424 4v S+1 +3 650 414.0 -414.0 ( 460 446 44 V-2 ¢+ K 100 327.0 -327.0
432 423 4v N+1 v2 650 414.0 -414.0| 624 621 44 V-2 + K 100 327.0 -327.0
525 522 4v S+1 a2 650 414.0 -414.0 | 632 652 44 O-2 +3 100 327.0 -327.0
529 557 4v S+1 43 650 414.0 -414.0( 633 651 44 O-2 +3 100 327.0 -327.0
533 553 4v S+1 43 650 414.0 -414.0| 421 434 3NV-1 + K 50 261.0 -261.0
632 652 4v S+1 a2 650 414.0 -414.0( 425 430 44 O-1 +3 50 261.0 -261.0
660 645 4v S+1 2 Q 650 414.0 -414.0( 432 423 44 O-1 +3 50 261.0 -261.0
421 434 4v S= 43 620 391.0 -391.0( 525 522 44 O-1 +3 50 261.0 -261.0
536 550 4y N= & K 620 391.0 -391.0( 531 555 44 V-1 + K 50 261.0 -261.0
435 455 44DO -2 vA 500 291.0 -291.0( 533 553 44 O-1 »3 50 261.0 -261.0
450 456 34 O-2 &2 200 -4.0 40| 548 544 4v O-1 &A 50 261.0 -261.0
531 555 3v S+2 a2 200 -4.0 40| 634 650 44 O-1 +3 50 261.0 -261.0
628 656 3v S+2 a5 200 -4.0 40| 648 636 4v V-1 ¢+ K 50 261.0 -261.0
630 654 3v S+2 v2 200 -4.0 40| 653 631 44 O-1 +3 50 261.0 -261.0
644 646 34DO-1 »2 200 -4.0 40| 655 629 44 V-1 + K 50 261.0 -261.0
653 631 3v S+2 v2 200 -4.0 40| 445 451 2¢DN-1 &K -100 109.0 -109.0
635 649 3v S+1 43 170 -43.0 43.0| 428 427 INV+ + K -120 71.0 -71.0
454 436 44 N= & K 130 -86.0 86.0| 521 526 2NV = + K -120 71.0 -71.0
627 657 3% N +1 &K 130 -86.0 86.0| 623 622 2NV = ¢+ K -120 71.0 -71.0
425 430 34 O-1 *2 100 -125.0 125.0| 626 658 2NV = + K -120 71.0 -71.0
428 427 34 O-1 »2 100 -125.0 125.0| 535 551 34 V= + K -140 56.0 -56.0
429 426 34 O-1 »3 100 -125.0 125.0| 627 657 34 O= a2 -140 56.0 -56.0
437 453 34 O-1 vA 100 -125.0 125.0| 628 656 24 O +1 +5 -140 56.0 -56.0
447 459 34 O-1 vA 100 -125.0 125.0| 454 436 34 O +1 +3 -170 11.0 -11.0
448 458 34 O-1 vA 100 -125.0 125.0| 660 645 34 O+1 43 -170 11.0 -11.0
521 526 34 O-1 *2 100 -125.0 125.0| 527 559 2NV +2 +Q -180 9.0 -9.0
527 559 34 O-1 vA 100 -125.0 125.0| 444 452 2NV +3 + K -210 -21.0 21.0
534 552 34 O-1 &T 100 -125.0 125.0| 529 557 4¢DN-2 &K -300 -124.0 124.0
535 551 34 O-1 *2 100 -125.0 125.0| 630 654 2¢DN-2 &K -300 -124.0 124.0
545 547 34 O-1 vA 100 -125.0 125.0| 433 422 44 V= + K -420 -249.0 249.0
548 544 34 O-1 v5 100 -125.0 125.0| 435 455 4a4 V= ¢+ K -420 -249.0 249.0
549 537 34 O-1 *2 100 -125.0 125.0| 437 453 44 O= + K -420 -249.0 249.0
554 532 34 O-1 2 100 -125.0 125.0| 447 459 44 O= +3 -420 -249.0 249.0
556 530 34 O-1 vA 100 -125.0 125.0| 448 458 44 V= ¢+ K -420 -249.0 249.0
560 546 34 O-1 vA 100 -125.0 125.0| 449 457 44 V= + K -420 -249.0 249.0
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623 622 34 O-1 vA 100 -125.0 125.0| 534 552 44 O= +3 -420 -249.0 249.0
624 621 34 O-1 &2 100 -125.0 125.0| 536 550 44 V= *K -420 -249.0 249.0
626 658 34 O-1 »2 100 -125.0 125.0| 545 547 44 V= + K -420 -249.0 249.0
633 651 34 O-1 *2 100 -125.0 125.0| 549 537 44 O= +3 -420 -249.0 249.0
647 637 34 O-1 vA 100 -125.0 125.0| 556 530 44 O= +8 -420 -249.0 249.0
650 636 34 O-1 »2 100 -125.0 125.0| 560 546 44 O= +3 -420 -249.0 249.0
659 625 34 O-1 vA 100 -125.0 125.0| 635 649 44 O= +3 -420 -249.0 249.0
444 452 4y S-1 +6 -100 -327.0 327.0| 647 637 44 O= a2 -420 -249.0 249.0
445 451 24 O= »2 -110 -327.0 327.0| 659 625 44 O= +3 -420 -249.0 249.0
449 457 24 O= *2 -110 -327.0 327.0| 524 523 3NV +1 ¢+ K -430 -252.0 252.0
460 446 34 O= *2 -140 -365.0 365.0| 429 426 3¢DN-3 v3 -500 -328.0 328.0
655 629 34 O= vA -140 -365.0 365.0( 644 646 4¢DN-3 &K -500 -328.0 328.0
528 - 7.2 450 456 4¢DN-4 &K -800 -550.0 550.0
634 648 A+/A+ 75.0 75.0| 528 - 7.2

650 636 Pen/Pen -150.0 0.0
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